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1 Bconomics . YT Rt Wl R R A A S E ot SR '
ECONOMICS. Is the study of how socletv provldes Ior Itsel[ by rmklm! the mmt cf[icwnt use of
scarce resources so that both private and soclal welfare may be improved.
+ Economics provides a framework lor studying how individuals, households, firms,
governments and global organizauons behave and take a wrde range of deci,iom,

«

1.1 Mu,roeu)nomies and M'\croeconomics R e
Economics can be broadly divided into two branches: " | b gl i P "
*  Microeconomics e '
. Macroe'cono'mics

md\fferente curves costs revenues and prohts of hrms.

MACROECDNOMICS refers to the economic lssues that relate o the Whole economy These

issues can mclude economic growth unemployment |nf|at|on natlonal mcome and living
i standards . .

. Many economuc issues and. prob\ems cannot be satlsfactorlly classmed as micro or macro and
€ ““encompass botn branches of economics. For example, an increase in taxation on ‘petrol may

reduce the demand for petrol. There is bath an effect on mcome of rnduvnduals (mtcro) and the
revenues of government (macro)

- ";'é\
1.2.. Normatxve andPosmve statements i

POSITIVE STATEMENT is based on emplrrcal ora

’ > Statements about economn:s that can oe or
S 1 zi_uar,m_ <~ svercase™
. These can be supported or refuted by evidenc

° ror example following is a positive statement: ’the infiation rate in 2009 was 2.5%

Staternents about the future can also be positiva vatements For example The service
sect r will.grow by 30% in size over the next flve years.”:

Statement is capable of being proved or d|sproved even though economtsts may
have to wait for five years to know whether it was actuaNy true or false.
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Thost statements copnot ho ‘.m)p(ﬂnd or_yn[u;nd. At
They are ppinlong about how o(.mmmlr-r..lhdmmlr't luould WO{{/ g

't, 0y
e

o For example, the (ollowlnuflnlnnwnt .unlummntlvo' o
o ‘The government should cut fuel tax to reduce the rate of Inflation.’
o 'Public sector workers should rr'(luu'lholrdom’md’forhl[ghcrwaﬂc
« These are often drawn from the economlst’s paraon,ﬂ\/lnwe, political bellefs and ethics. /"
«  Normative statements tend to contaln' words ke, hould’,nnd oupht Although ;
sometimes positive statements also contaln thes oword Ky i ey

R d
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1.3 Production and Consumption . ' e S g b,
PRODUCTION is the process of C|e1tlng goods an(J qmvuc s ifan e onomy: Goods and services L

have theQ:apacnty to sausfy wantsﬁ

CONSUMPTION is the process by Wthh comumc: suusfy thmr Wmta
« Some goods, such as sweets, are qmckly used.up. o

: |
¢ Consumer durables, such as refngerators and mobnle phone

longer period.

szi'ti'sfy'?\)\(ants' over a’. i

1

1.4 Fhe time dlmenslon - N
SHORT RUN is a time period when a firm can only change
least one of the factors of productxon is flxed

some and rot all factor inputs. At

N is the time period when all factors of. productnon are vanabl i Flrm may'lmprove ‘the e

LONG RU
ew factory to mcrease |ts output Thxs Ieado to R

quantity and quality, of its capltal by bUlldlng an
greater efficiency in the long run.

able Th‘elé.i_:‘ kéy" Iy “

s |nto prod

VERY LONG RUN'is a time penod when all key mput
inputs can lnclude technology, go» cmment regulatlon
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o 2 < Basic economic problem

) Basic economic problem

2.1 Limited resources g - ,'_
RESOURCES are inputs a ot e T L e e T g :
of FACTORS OF piogu\g:aot;\:e :Zr t:: production of goods and services. There are four types

' € resour
services. These include land, Iabour caprtaland :St;rf"lpartszrercombmed to produce goods and

(i) Land L L
LAND includes the surface of the earth and all
mineral deposits and the climate. Some of the: major issues witt

_such'as. lakes nvers, forests

The reward for owning land is the i mcome and rent tnat lsr gef\ir;tt:dland mCIUde
* Lland is scarce and it cannot be rncreased in quantlty '
« Natural resources can be bath renewable and non- rene able
:lECShO':\JSPfCOErSest and fish can be replaced- by natural process whereas NON- RENEWABLE
such as mineral deposits, orl and gas cannot be replaced once consumed.
o There is a concern at the rate at which these resources are being depleted.
Higher levels of consumption today means that we enjoy high levels of living

standards today but this will |eave fewer | resources for future generations with

the concern that the high living standards may not be sustamable in the long run.
o “Another concern resulting from the’ rate of. consumptlon is that it is leading to

higher levels of pollutlon that may lead to' poor l|\11ng standards in the future
s Quantity of land can increase due to dlscovery of mineral reserves, or rmprovement of
water-logged and eroded Iand ‘It can decr ecs oue to de le‘uon of resources water-
logging and erosion. R A
e -Quality of land can be rncreased tnruug‘x 1 se of bet’ r
fertrhzer, and trammg of rarmers Tms wril .e;f, to inc

use of pestlcrdes and

ﬂcnno]og\,,
séin producuvuy of land

ii) Labour :

. E.A)BOUR includes all menta! and physical effort of | num snsic prcduce goods and servrces Some
" of the issues related to labour are listed below: oo 0L :

« Wages and salaries are paid to labour. - _

« Labour can be both _sul@_a___m:lumkll@_ Skllled labour |s more productlve but demands

| higher wages, whereas unskilled labour is cheaper but less productlve

because of increase in population size, net rmmlgratron
the labour force, and hlgher retirementage.
h-training and educatlon better Ieadershlp style
ry These. steps lead 10 increase in

« Quantity of labour increases
increased woman participation in

e Quality of labour can increase througt
that motivates the employees and use‘ of machme
ploductlwty of Iabour g

,RENEWABLE RESQUR"Ea '
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. Another important lssue In recent years that has emerged s that of lemalle rltat:tlcrmen '
i \abour force. Most of the nations are evldenclng an increase in. fema eka our| force -
participation, This leads to an overall lncreare In supply ol Iabour in the mar et 2

i) Capital
\CA)P\TAL includes all man-made aldes to production such as robots, machmes software and
spages. Capital goods increase the (productivityof antl/qualrty>of productron from land and
\abour. Issues with respect to caprtal include: - 2, 0 : s
o The reward for caprtal is the r_a_tggf_r_e_turn and |_n_te_r_e_st that is earned

Caprta\ good< imptove the productivity levels. m the economy
Working or circulating_capital is stocks of raw materrals,
finished goods which are waiting to be sold N LR e T
Fixed capital is the stock of factories, offrces plant and machrner
transform working capitalinto finished products : . : 4 A
. There is a threat that a rapid change in technology may rnake B mung capltal obsolet= Do
« Developing economies=da.:not have enough: resources to invest in capital: They then
have to import capital from developed economies.

Quantity of capital increases when net rnvestment is nosrtl/'
greater than capital consumption) and through rmports

+ Quality of capital can be |mproved through mvestment m H&D
technology. :

semr-manUfactured, and”

Itis used to

{gross investment is -

ru:_'i,m'p_r_oye the state of

(iv) Enterprise (Entrepreneurship) A
ENTERPRISE performs two functions in an economy (r) entrepreneurs
factors of production to produce goads and servrces and (n) entrepre

with investment and production. Enterprlse rnvolves followrng issues
e Profits’ belong to entrepreneurs

"Firms can be large-or small. smaller firms have few 'réSourCeS' nd are usually run 'b’y"' :
single individuals (sole proprietership). Larger firms have more resources, engage -

specialist managers, use division of labour, and sell shares to: shareholders (publrc o
limited companies).

rgamz other three

Quantity of enterprise can be increased through trarmng and educatron of workers ano
through investor-friendly government polrc:es

» Quality of enterprise improves through use of tralnmg and educatron ‘and expenence

Contrrbutron of enterprise to the economy’

Market is performing an increasing role’ in almost all ‘conormea Thrs "has provtdeo_'

opportunmes for the’ development of. an enterpnse culture W rereny- who are prepared-
to take risks may achieve substantral busrness SUCCESS For e»ampl\ _Mlan-Nrshat (Pakrstan)

Rata Tata (India), and Richard Branson (UK) have built.up larce hustness emplres Enterpnse
brings following benefits to the economy: .. TAELEE : S

e Enterprise starts new frrms and’ mcrease lnvestment \n the economy
. lt creates new [obs hence lowering unemployment Ain the economy
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2 — Basic economic problem

e Enterprise leads to met_lp_n asa |0t of new and hr tech products are introduced by
new small firms. C b T ‘

¢ Successful firms can become Iarge multinationals.

Profitable firms will- give more- taxes to the' government that can be used to build
infrastructure and improve economlc efhcrenc :

s

consumers, lower prices and better quahty products due to competltron

New firms can also lead to’ rise in: exports and lower lmports Ieadrng to ,mprovement n
“balance of payments.

New firms improve social cohesron by allowmg poor or mlddle class lndawduals to earn
hrg,her rewards by mvestlng in successful busmesses BN :

Use of factors of productnon in drfferent sectors in the economy

All factors of production are required to produce goods and services, however thelr FElaUVE
importance and use depend on the sector and the productlon methods.

ECONOMIC STRUCTURE refers to the way in Whlch an economy is orgamzed in terms Of sectors.
The following sectors are recognized: . o

1. Primary sector: PRIMARY SECTOR con5|sts of agnculture frshmg and act:vmes such as

mining and oil extraction. It requires more land and labour. However m recent years there
is an increase in use of capital such-as tractors and tube wells.

2. Secondary sector: SECONDARY SECTOR consnsts of a range of mhanufactpnng actrvmes such

as food processing, textiles, clothing, iron and bLDEI produc‘rlon Italso: consrsts of
construction. It requires more capital where machines are used t'\ produce more goods and
services. Again within it, labour-intensive production_techrigues tse reratrvely more labour
and capital-intensive production techniques {such 3s fiow vroduction) require relatlvely

more capital.
3. Tertiary sector: TERTIARY SECTOR consists of §erv ces sut hes ret:wmg, t ensports loglstlcs
banking, insurance and education. It aga.n ne il four factors )r pTOdLCthﬂ but 5 usuallv

more:labour-enterprise. It also requires a lor : ; : =
7%1 Quaternary sector: QUATERNARY SECTOR is a tcrm usca o denote tha knowledge -based
" part of the economy, especially the provision of information. Typical examples include

scientific research and product development and computmg lt uses a lot of technology and
alsorequires skilled labour. : .

The economic structure changes with the leve of deveIOp e of an economy ln develomng
countries, the largest contnbutlon to GDP comes from- pnmary sector Wthh is also the largest
employer. In developed countries, the tertiary sector tends o be the largest employer and also
contributes more toward the GDP L R

Factor endowment ' A A : :
FACTOR ENDOWMENT refers to the avallabllsty of facto_,p_f_pmductron-m«'m economy For
instance, Saudla has abundant oil reserves; Palustan has good climate and land suitable for

—

New firms provide competmon to exrs’ung flrms'that leads to more chonce for
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agriculture; Japan has a lot of capital; etc.. Whereas all factors of productron will be avauab,
all economies, however, economies will. dlfter in. ternls of the abundance or shortage of{act
For instance, poor and developing economres hdve! bundant laboUr whrle lacrng ‘shortage Of
capital; developed economies have abundant capltal and face labour shortages Saudra is Fich iy
oil; Pakistan has good climate ‘and land for- agrlculture Chrna has a lot of skrlled and Cheap
labour etc. This leads to following issues: - HIRNRY .i foEr L ble T fim
 Abundant factor is cheaper and the short factor is‘more expensrve Therefore we fmd

that labour in developmg economres (where it is abundant) is cheaper than labour in./

developed economies (where it is short) On the other hand caprtal rs cheaper ,n; 5

developed countries than in developmg countries.

« Economies tend to specialize in those products that use more of therr abundant' 4

resources. Therefore, developing economies are expected to specialize in labour-

intensive technigues, and developed economies are expected Dv'specrah,ze in capital-*

intensive technigues.

2.2 Unhmlted w ants A : :
Consumer desrres can be drvrded lnto needs and wants

(i) Needs oL : : R
NEEDS are-those desrres that must be satrsﬂed t’or a ; / ( flt.canv, mclude both
physical needs (such as food, shelter and clothmg) and nsychcloewa' neelo (such as the need to-
be loved and cared). Needs are lrmrted L ORI Bt L

(ii) Wants : 4
WANTS are desires that are less essentlal but can rmprove the qualrty of lrfe They can rnclude
cars, holidays, cinema, TV and Tike that.. Ot . : . .
¢ Wants are unlimited and are contmuouslv exoandme and changme lf one want Is | o
satisfied, a new want will cn\erge :
¢ Individuals desire better food, luxurious housing, better workmg condmons etc Firms
want more profits and expansron -af... busmess Society may want lmprovecl
infrastructure, low mflatron hrgh economrc growth and better living’ standards
» Wants can evolve wrth our age, ou ‘expenences 0 "and socral cir cle, and'f.- .
through our observation. Every mdrvrdual has 4 scaléof nreferance' that determme., his. -
needs and._wants.. This’ scale of pre.‘erence depends on an rndrvrduals culture hrs ST
“upbringing, and his life expenences ' : T B
* Wants are also sometrmes called luxunes A luxury '
a need for another. . _' : B ;
* Somne wants expand as we grow up,‘rna"r_ry’ and rarse af

2.3 Scarcity and Choice : _
SCARCITY is the fundamental economic . problem of havmg seemrngly unhmrted wants ina.
world of limited resources so that all wants cannot be <atrsfred Economy and the decrsron '

& individual may be c'o_nsid‘ere'd»‘ S
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. L o . 2 — Basic economic problem

akers hence have to m ' R RS TI
:; choices have to be E:h(:daectmce CHOICE Underpms the COncept that resources are scarce - i
c ~ : [

following choices: Y anSumers, ﬂfms andlgdvernmenw . Iocrety has to make :

¢ Whatshould be produced'v’

« How it should be produced?,

« For-whom it should be produced? : o ' '
whenever a decision maker faces shorta;Land makes a chorce_{'t\" r;rL_re_t_QgQQO_”iL'lM-

2.4 Opportunity cost
g:g::z:rvl?;sfgg;r[ :;Is(isf;ned as the beneht foregone on the next best . alternatlve
apuridant resources such ” n Tcahrce resources such ‘as land, machlnes, burldmg and labour.
Batie 1o ppertiiniby cost sunlight.and sea water do: not tead to a probiem of scarcity and

s. All decision makers in the economy wrll have to face opportumty
costs. Some of the examples are given below. : '

Consumers have limited income-and cannot purchase all the goods that they want. Ifa

consumer decidesto: buy aTv, then that consumer is- foregomg the ‘benefits that he

couid have received ifhe had purchased another good such asa washmg machine.

o Similarly, if consumer deudes to spend hrs mcome hrs opportunlty cost will be

the interest lost on savmgs e L :

e Firms have limited income and finance and cannot produce all products that are
demanded. If the firm decided to produce product A, then, the profit they could have
earned from producing product B is the opportunity cost of producing A.

° Governments have limited tax revenues.and cannot spend onall actrvrtres required in an
economy. If they spend money.on defence then, they are. rorcgomq the henefits they
could have received from investing in health and education.

o Similarly, if government decides to increzse its expenditure by taxing the
population, the opportunity—'cos will be fail Jr;-ump ion and in savings
resulting from lower drsposable incorme.

. Workers have.limited time avarldble to' them but
worker decides to work in a certam occupato

another occupation is his opportumty cost. AR LI
o Similarly, when workers decide to spend more trme on work the opportumty

cost is the time they could have: spent on \elsure actrvmes
« Others such as charities and rnternanonal orgamzatrons face srmllar problems

« Opportunity cost is even present between the choice of gresent and future. If a society
oods, the opportunrty cost is. fewer consumer goods that

decides to sgend on capital g

reduce short term living standards.

/|
'
4
7

SIANEITEES

of taking 2 decision and economists include the
an be shown as the area outside

presents the true cost
of taking a decision. NOTE: Scarcity ¢
be explarned using PPC and a movement on the curve.

Opportunity cost thus re
opportunity cost in cost
PFC. Opportunity cost can
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s and Free g,oods
hose goods which hav 3
d grve nse to opportunlty cost

y factor of prod uction tobe produced s

2.5 Economiic goods
ECONOMIC GOODS are t
These goods are scarce an

FREE GOODS are those goods tha‘t do not requrre an

« There is no price for free goods. . '
wrld berrres etc. .

e There are very few examples of free goods rncludmg arr, )
As the population of planet has mcreased ‘the' number of free goods has decreased

Free goods have no opportunlty cost :

2.6 Economiic quesnons A
The problem of scarcity leads to-choice: that means n"_econdmy as .

produce?; i) how to produce |t'-’ and m) from "whorn to produc

- (i) Whatto. produce7 L@
Since an economy cannot produce all th
resource, it will have to decide what shou
produce those goods and services that maxrmrze satrs

generally would lrke to

Id be produced The economy
factron and economrc welfare

i.e the mteractron of demand and
‘indicates 3 higher- demand and.
wer productron of the .

Free markets make thrs decision based on prrce mechanrsm,
market.' A hrgher prrce

supply forces. Prices give signals in the
firms produce those goods and services whereas a lower prrce Ieads to Io

good.

es take the decision based on socral benefrts and soclal costs =The‘decrsron is*

Planned economi
imize socral welfare

taken by a central planning authonty and tnes to max

- (ii) How to produce?
Resources available to an economy are scarce in r
therefore has to decide how best to.use its: resources -to"m
have many different productron methods to’ choose fronr‘
capital-intensive techniques. Free markets base the’
Other things remaining same, an economy will use the produonun
its abundant resource and less of its scarce resource. In planned economres thlS decision is also

taken by a central planning authority-

elatron t

ey can JSE !abour intensive’ or

It must be noted that this questron must not be addressed on purely economrc terms We also
need to consider other issues when deci
labour can increase production in" an economy’

arrangement. Use of GM crops can rmprove agrlcu

ecosystem.

‘but: theré’is 3" moral obJect|on “to. this
ltural yrelds but can’ Iead to damage Of

nts because- of scarce e i

drng this: questnon For mstance use of slavery or forced.

unum.red wants The economy A
dinize a‘he outcome Economres

‘decision: usme der nand and supplv forces o
mchod which uses more of .
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to be 'd.tl.{fied There are many
urban and rural and like that and
t satrsfy all the wants of all the

(iii) For whom to produce? |
The question here is that how many of eacr |
ps in the economy such as rich and poor;

Jerson s wants are
young and old; u

o]
at an aconomy cann
2 4 ny of each person s wanu ara to be

grou j
each group has unique deman
groups. Decisions have to be taken concernrng how ma

satisfied.
« Whether everyone is gorng to-
° Whether some will have more than others?

haVe a more or less qual share of what is produced?

In free markets this decision is taken through the prrce mechanrsm where demand and supply

of each group will result in change in prices. Fir

and they can make more profits. In planned economres thrsv decrsron ls,tahen_ by the central

authority that judges what is best for the economy. -

t to create a more equal dlstrlbutron of wealth and
h and paying benefrts to ‘the poor. In other
and wealth are made In answennv this

Some economies deliberately attemp
income. This can be done. by taxing the: ric
economies, no such attempts to redistribute income
guestion, more aspects of decision making are agam rmportant

utube. com
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ms produce those goods where prrces are higher

SO
3

RN
TS

AN

N

AR TN SV

R St
RNRNNS ‘\§‘\\\\\

SRS
SROSAAK

NN

::‘.;‘:r:&

f“’b:fs‘:\\

-2

\‘.‘.
SRR

o TR 1 AT PR S

Y TRl 7T T IREI 17 R



www.youtube.com/megalecture

Qnline Classes : Megalecture@gmail.com
www.youtube.com/megalecture
www.megalecture.com

3 —Production possiblllly cu,"i
\"J’i

& Production possibility curve . ;.0

4 b . ;,I [ e KX 5 .
PRODUCTION POSSIBLITY CURVE (PPC) shows the maxlmum combmatlon of goods and" ;

services that an economy is capable of producing by fully and elficuently Ut'lllmg its” g'vong '
resources and the state of technology. b :

7,4 7.

* The production possibility in an economy ls Ilmlted by the resourcns avallabla and 'tatov :

of technologucal knowledge Ilowever they may chan{,e over time. leadmc tO,,ChanE!E-? ln,',,'
PPC. % % : g

3.1 Shape of PPC

Shape of PPC depends on whether we assume. constant opportumty costs or lncreasn
opportunity costs, : : .

Military

Constant opportunlty costs and Linear PPC - | Boods
If we assume that gpportunity cost remains same,. | .. |- i
then the shape of PPC will be linear (downward |- ™~

. sloping). This is not very realistic and assumes
- that resources are perfectiv moblle for both
© goods.

FACTOR MOBILITY refers to ease by which factors - A M
of production can be moved around. If factorscan | =" 0o
be easily moved around different industries. or
regions, they are called mobile. If it is di
industries, they are called |mmoblle

*. Consumer goods -

ffucult to move Tactors around dlfferent reglons or.

Increasing opportunlty costs and Concave PPC : : . EE g
Since resources are not perfectly mobile, i.e. resources are speCIallzed in their nature and
cannot be equally efficient in. production of all goods, it is _more reallstlc to assume that =~ .
opportunity costs rise as resources are shifted from productnon of One good to anoLher Thb o
results mawofPPC that slopes downwards

: Agvlculmral
For example, assume that an economy produces" goods”

two types of goods — agricultural goods and |
manufacturing goods. As the economy. moves’
from point A to point B, initially only the least
fertile_land_is_reallocated . to ~production - of"‘:' "3
manufacturing goods. This rneans that: there’ is” |
very low  loss of agncultural output” (low.

J opportunity cost). As economy produces more | | | ‘{ ‘ l\\; ,
manufacturing goods, it will have to reallocate | - .o g . n .- I R
more_fertile land which wilt mean that the | =~ = & "'mmm""wods;“-.

decrease in agricultural product:on will mcrease leadlng toan mcrease in opportumty cost.

[
DT TR AT R e i i
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The following table |llustrates the product|

Imlted rESOUrCes: ,n posslbllltles avallable to the economy with its
| ) ‘

Explanatlon

« At point A on the curve,-economy: produces ‘only agncultural goods (om’) and no
manufacturing goods. The opportunity cost\ns therefore 'ok’ of mammwggs;__

v At point B on the curve, economy prod ces ‘on’ of agncu <! goods and ‘og’ of
manufacturing goods. To produce og‘ man facturing goods ‘the opportumty cost to the
economy is ‘mn’ of agricultural goods that is\foregone.

« At point.C on the curve, economy prodices ‘00’ of agncultural goods and ‘oh” of
manufzcturing goods. To increase productign of manufacturing goods from g to h the
loss in agrrcultural output is ‘no’ which is the ppportunity cost.

v At point F on the curve, the economy:-on produces manufactunng goods and the
opportunrty cost is ‘om’ of agnculturalgoods : RS : '

The table showsthat the opportunlty cost keeps on mcreasmgfas we move from point A on the

curve to point F. : " ' e

3.2 Analysmg economic performance using PPC
PPC can show the maximum level of output that an economy can achleve wrth |ts exnstlng
resources and the level of technical knowledge -

Cood_ Y

Points inside PPC (e.g. point A) are achievable;
but are either -inefficient; or there s
unemployment of scarce resources. To overcome
these problems, the economy should move
toward PPC by increasing aggregate demand (AD)
to increase employment;  Of promomn
competition to create efficiency.

S

All'points on PPC (e g. pomt B) are achlevable and Gl SRRy G"m’g
show full employment and productlve efncrency of scarce 'resource "Economic_efficiency
means that economy is maximizing its sat|sfact|on wnh scarce resources however all ‘wants
cannot be met because of scarcity of resources Firms are producrng goods at their lowest cost.

Movement on the PPC shows the opportunlty cost PPCis hence called product transformatlon
curve. This helps an economy ‘take a decision. about how to allocate resources i.e.. which
combination of goods and services should be produced -

yutube.comy/

3 - Production possibility curve
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an and cannot

at'c
PPC shows the boundary between Wh ide Ppc

on or ms
productnon possibility frontier. All polnts T

PPC are not achievable.

h se are not achrevable wnth current resources :

/ -
how scarcity- Tmtes _bove PPC by increasing quantity or: quality
an achieve poO!

atln resources fre 3

or state of technolog. ETBTC Crovmg the state of’ technologv reaIIOC g' °m

f its factors of pl'OdllCtlon, mP trade P 'f ,"!: :"?i'.‘-:f: "‘"._" RSP EE

cc)on|sumer goods to capital goods or engagnng ln free X g R i
urces need to be shrfted from one use to 3n0ther

e that = ATION OF RESOURCES refers to deliberate

to another Economy has to incur
productlon ‘of _}-product to the

Vi s’krlls. oW

Points outside PPC (e.8. point C) s

PPC helps policy-makers to re c
This is called reallocation of resources. REALLO

movement of resources from productlon of one prfo(d;ct

substantial training costs to reallocate resources (rj t'” roc
production of another product Tralmng |s requrre 5
requrred to produce dlfferent types of goods and servrce

Shifts in PPC shows economic growth

Explaining Microeconomic and Macroeconomlc concepts on PPC ; COS 7
Microeconomic concepts that can be explamed “Scarcity and Opportu:| y C r(;Wth
Macroeconomic concepts that can be explalned Unemployment and Economicg

3.3 Shifts in PPC : A
Shifts in PPC take place due to a change in quantrty or qualrty of fas CTors. cr o}y oductlon a o angel:_ -

in the state of technology, and allowmg free trade

Economic growth ' - "
ECONOMIC GROWTH refers to an increase in'the productlve potentral of the. economy andi ls".,: F
shown as a shift outwards of the PPC. It takes place due to mcrease m quantrty of ‘factors-of :
production, |mprovement in -quality’ of factors of productron "a, rmprovement m’technologllr'g:,
and a reallocation-of resources toward producrng more capltal goods S ‘
s Increase in quantity of resources means that economy Wil ‘be, able to. produt:er\_lj_f_ej
goods and services leading to an outside - Good Y b
shiftin PPC.
e Improvement in quality of resources or in
the state  of technology lmproves _
productivity of the factors of production. .
PRODUCTIVITY measures the ratio of
output to input ang can be measured by
labour productivity or capital productivity:
An increase in productivity means that | .
economy can produce more goods Wlth 1
the same resources. ERRE ?
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B I T i1
b ik | i
o , : v
Exact impact on the shift in PPC depen Lo 1
under consideration, pends on how the changes are likely to affect the two goods j
« Ifthe change in resour impro it e b T s )
' ce e . R . ‘ A,
PPC, then, PPC will shift $ _‘t’r "mp.f_?.‘.’?meUF;,'I'_I,"tQC_hnqlggy is likely'to affect both goods in 7
Outward parallely as shown'in the 5ig'ur'e above, .-~ é/f
: ST TN N o o7
. : A
o Ifthe change in resources or improvement - T W
in tech is | ; : 4
y nology is luke.lv to affect just one ::z;::;ura'_ : ?ﬂ’j
good, then, PPC will pivor outward as|, "] i:ﬁ:
§hown in the___ﬁg_ure be]ow,‘,pqr example an - i
Improvement .in  agricultural ‘technology b
that is not applicable. to’ manufacturing ' "5
products leads to a pivot in the. curve. | . [
Maximum  amount of  agricultural | - lf
_production  has increased but. . the - i
maximum  amount - of manufacturing R
H - . . - . Munutacturing
production remains the same. " product -
Apart from maximum production level of manufacturing (which does not change), at all
qther levels of agricultural production, manufacturing has increased as shown in the
figure. With the same agricultural production A1, manufacturing production increases
from M1 to Ma. This happens because increase in agricultural productivity means that
fewer resources will be' required:in agriculture. ‘These additional ‘resources can be
shifted to production of manufacturing products thus increasing their production.
. An improvement in guality of agricultural “lead to increase in
' :

manufacturing production. Agricuiture is’
improvement in quality of raw materiz )
manufacturing industry leading to an increase ini

i for manufacturing. An
: cincrease. in efficiency of
aximum outputy -

Inward shift in PPC . e e e e
It takes place due to fall in quantity of factors of production, deterioration in quality of factors
of production, and negative net investments. ' O N

e Fall in quantity.of resources means that | .

~ economy will be able to produce fewer | -
goods and services leading to an inside
shift in PPC.

o Deterioration _in _guality of ‘resources
reduces productivity, of the factors. of |~
production meaning that economy .can |-
produce - fewer goods - with™ the ~same
resources. i

Good Y . .

i
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‘ ffect the tw e

the changes are llkely to 2 0 EOod %

i ' ift in PPC depends on how |
Exact impact on the shi

i |
et C(:m:de;\atlc::m resources is likely to affect both goods in PPC then, PF’C will Sh'ft '“Ward |
o Ifthechan L

parallely as shown in the flgure above

i prOt mward 3

o Ifthechange in resources affects Just one good thel_,

cdmbmatlonoftwofactors T I R A e T T
Each factor has to be consrdered in Isolation andthen an ove_ralll rmpactn69d5 to bi’: Q?QS'ffGted. LR

An increase in one resource and a decrease in another resource. ft : vrd ) t
Increase in resource shifts PPC outward Decrease in another resource shifts:i rnw? xac
effect cannot be predicted. 1t depends on the strength of each rmpact It the rmpact 0 mcrease
in a resource is greater than the impact of a fallin__ ;

resource, PPC will shift outward and vice versa. :m:ulrural
. ) 'ro uct

N

" Increase in agricultural productivity and 3 fall in
manufacturing productivity ¢ v
Increase in. agricultural producnvrty means that".
there is an increase in maximum agricultural
production. A fall in manufacturing productivity
means that there will be a-fall in maximum

manufacturing production.: The net rmpact |s_ : B
shown in the figure. == :..o ¢

3.4 Capital goods or consumer goods

One choice facing an economy is how much to spend.on consumer goods and on capltal goods
The impact is elaborated in following points: : i SR e T
* Spending on consumer goods mean that mdwloua's .wi be able to enjoy a hrgner L
standard of living in the short run. However, this means less investment in capltal goods
which may lead to fewer goods consumed
in the future. ) Consumer
..+ Spending on capital goods increases the |“"™ 1 <
capital stock of the economy that leadsto | . .-
increase in productive capacity of the [ = . .
economy. The exact impact on - the
economy depends on. the. size -of
- investment and capttal consumptron Lol

CAPITAL CONSUMPTION' is 2 'term used to |
describe the amount of capital that is used up
“(worn out) during the process of production. This

B
Capital consumption

T e
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N

NN

is also called depreciatmn and is assumed tope area ‘oa’ In lhe ﬂgure

INVESTMENT s the creation of capnal Bo ds in the process of productnon and’ can also be

defined as any production that is not for cur ent consumptlon ‘GROSS’ INVESTMENT is the total

quantity of capntal goods produced in the econom NET
; I V
minus capltal consumption. v N ESTMENT '5 8"055 '”VeStmem-

Net ]nvestment = Grass In estment - Cap[tal consumptum

if

N

If investment lsgreater than cap:tal consumptlon (positnve net mve,tmeﬂL there W'" be an ,f//;
increase in capital stock of the economy Ieadmg to an outward shift in 'PPC. Investment in //%
capital stock will mean that fewer consumer goods are manufactured leading to @ decrease in 5/;
living standards in SR. However, this leads to ohtward shiftin PPC which means more goods can fﬁ
be consumed in the future leading to lncreagse in living standards in LR. Therefore, there is 4
trade-off and the economy has to decide the optlmal level of mvestment Zf

AT
NN

If investment is equal to capital consumption it W||l jUSt malnt“' the capltal stock in the
economy and this is the minimum investmentirequired to mamtam productlve capaC|ty and
PPC. ' . o v , A

Traaninag
RN
W

ENSRREEN

o

If investment is less than- capntal consumptlon (negatlve net mvestment_), |t w1|| mean that the
capital stock in the ecanomy will fall over time. individuals will be abic 1o enjoy a higher living
standard in the SR but there will be @ fall in living standard over time as PPCshifts inward. Less

2

investment will also mean that quality of an econamy’s capital goods remains underdeveloped ¥
and full banefit of technology will not be enjoyed. L & i)

3.5 Choices for developing peonainies {(very pé or f.q,»/elopmg econcmies} s
DEVELOPING COUNTRY is characterl ized by low standards living. These countries need to ,—5
prow_capital stock if they want to grow and improve ther tiving standards. However, these %:f/
countries have very few resources that are hardly sufficient to maintain SUBSISTENCE LEVEL OF \ q@;)
CONSUMPTION, i.e. the level of consumption that is needed to keep the population alive. ,V@U‘“ b

« Problem of these developing countries is | comumer . - v ,\_0 MW ;
that almost all of their. resources are | #0095, Pl BT e T L fU b;’

o

devoted to subsistence.

e~ They are not even able to invest equal to
capital consumption esultlng in anf :
inward shift in PPC in the LR leadmg to‘_
food shortagesin LR. v :

¢ If they divert resources to productlon of ; ‘
capital equipment, it will reduce L g - :
production of consumer goods leading to =
problem of survival again butin the SR. .
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nt is ecwal to Oalcaplta’ CO"SU"‘P“OH) there %
tment lS less than @, it, wnll be d;fﬂcult fo.

b | The f‘gure explains thls concept If eross mvestme
| would be problem of subsnstence If gross mves
sustain current levels of consumptlon

Solution to this problem is that economles can try to. attract forelgn@cillrect- lnve'sttrt;eptf; a{;:d o,—
foreign debt.. o IR e ROR
These will enable economies to increase thelr capltal stock wnthout havmg to dlvert thelr 0Wﬂ‘
limited resources away from consumption. However, it can result in following problems: -

« Foreign debt will increase indebtedness and this will mean that these economies will
have to pay a higher proportion of their income in debt pane”tS If foreign debt is.
invested in inefficient projects (which commonly happens in less developed countues)_'_ ;
this will mean that there will be an addltlonal burden on the eronom‘/ -

« Foreign direct investment will add to capltal stock and improve ‘economy's balance of i
payment. However, foreign firms will take away proﬂts ba\x to thetr ccuntnes in the
future and may also exploit workers and enwronment P '

* Aidi is not SO forthcommg and is usually MSufﬁClent

Developed economies. there.fore face_ a'major 'challenge in'terms oﬁ’rc:soi;.ﬁce aliocation.
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4 Money o - ‘ ‘;_:f.'.’

MONEY is anything that is generally accepted as a means of payment lt mcludes national

currency such as dollars (US), pounds (UK), euros (EU) and rupees (Pakistan). Apart from notes

and coins, it also includes cheques, credit cards and debit cards. Coins or notes themselves have

little intrinsic value. Their value comes from the fact that sellers have complete confidence in

money and are willing to exchange goods and services in return for money Money can also be
in the form of a valuable commodity such as gold or platinum. - .

¢ NEAR MONEY are non-cash assets that can’ be qmckly turned m’to cash such as

government securities, foreign currencies, savmgs accounts and certlﬁfates of deposits.

These assets contribute to the liquidity of the banks by prowdmg a supply of cash if this

is needed to meet liabilities to depositors. LIQUIDITY is the extent to which there is an

adequate supply of assets that can be turned into cash. LIABILITIES are debt obligations. _

\
N
Lo

4.1 Characteristics of money

It must be noted that money does not need to have an intrinsic value, i.e. . coins and money may
have no or little value of themselves. Value of money comes from the confidence of buyers and
sellers on money and its ability to be used for exchange of goods and ser\nces For something to
be characterized as money, it must have following characteristics.’ - &
e It must be DURABLE, i.e. it must retain the same‘éhape form and ru‘bstanre over an
extended period of time. Durability also includes sacial and institutional durability.
o It must not easily decompose, deteriorate, deé?ade or otherwise change form.

o Durability is critical to money to perform function of medium of exchange and
store of value. People are willing to accept an item in payment for a good if they

plan
have confidence that the item can be tradzd 2t 2 later time for some other good.
An item works as a medium of exchange ’L?-:’jf.‘:ZL.!vSE“;‘t storesl“value from one
transaction to the next. ‘ ARSI

o Refined materials such as go\d silver, toppsi oF mckel ha\re mstonca\ly been

used as money hecause they are extremely dqn able

Organic producls such as Iettuce ice cream or raw. meat are not used as money
because they are fperishable.

of modern_money, e.g. paper currency ‘and bank’ ‘accounts, depends on the
durability of\social institutions such as bahks and government. Ability of paper

currency to act as money depends on the mstttutnonai stability of the
government.

It must be DIVISIBLE, i.e. it can be ‘divided into smaller denommatnons that can be used
in exchange for goods of varying values L .
o For an item to function as medium of exchange izt be d|v|s|b|e 50 that it can

be used to purchase a WIde range of dtfferent goods such as cars and bubble
gums.

o

T3

R N S

5ocial and institutional durabllvlty is |mportant for modern economnes Durabilitv
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o Metals (gold, srlver etc) have been W|dely use as money b 2C:

divided into smaller units. . Lo
o Livestock on the other hand has llmrted use as money as it cannot be et,s,,y

divided into such small denomlnatrons to buy sweets.’
& Paper currency and bank account balances are easrly drvrsrble to match the vﬂ,uw ‘

of every good and servrce m the economy For example, $1 can be converted'

into 100 cents. '
e It must be PORTABLE, i.e. it can be easrly moved fr
complete exchanges. If it is difficult to carry money, then, trade will become drffrcult "
o Metals can be easrly transported and. have hrstorlcally been used as money
However, ga_p_raLgur_re_Q_gy replaced"metals because it was llghter and:easrer to-
- carry.’. , o ST R
o ltems that are phy5|cally heavv relative. to their: value in exc
 portable. These may- mclude thrngs l||<e maple syrup, economlcs textbook and 3.
radio. : '
-» |t CANNOT.EASILY.BE. COPlED i R o
o An item will i “=~its function of medmm of erchame i rt cari easrly be copled =y
and is available to everyone. It will'lose rtsvalue ifitis easrl\, copied: LT "
o Government prevents unrestrlcted dupllcatron of ‘maney. ch,emment controls P
the total amount of money.in circulation. Paper mcney can oniy be prlnted by
the central bank and hence holds.its value. lounterfeits threaten this .
characteristic but government takes steps such as. redesigning’ paper currency, '
adding water marks, mrcroscoplc prrntrng,' 'and magnetic . strrps to rr'ake
counterfeiting dlffrcult _ A . St
o It must be ACCEPTABLE to both buyers 'and'sellers ';Unles money:i
will not take place and the buyers and sellers will have. to resort to barter trade This will
make trade slower, time consuming and cumbersome : e
» It must be RECONGNIZABLE, i.e. people can easrly see! the |tem .
It must be UNIFORM, i.e. all versions of the same denomrnatron of money must have -
same purchasmg power. For example, a: Sl brll prrnted rn 1998 would strll be able to buy s
goods worth $1. : D e T R
It must be SCARCE, i.e.itisin llmlted quantrty lf !t is easrly avarlable it wrll lose its value
There must be STABILITY IN VALUE of money, i.e. it must retain/its value, One ol the
most serious defects of modern money is that it may be. affected by mflatron

rom locatron to another locatron to o

j:a'fé'hdt easil'Y e

acceptable trade R

4.2 Functions of money
From economists’ point of view, money has four necessary functrons

e Medium of exchange : RS S

o Unit ofaccount S

"~ e Store of value. e

 Standard of deferred payment o

o
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i) Medium of exchanit--‘t buyers use for purchases and that sellers are wrlllng to accept in %
Money iS 3 medium t aF r example, notes can be used to purchase a bottle of Pepsi. //é
- exchapge for purchalse;arzctensnc for anything to .act as a medium of. exchange is s carcity, %
é:ﬂhe %le and acceptable to sellers. Otherwise, they will have 10 7

on

resort to barter trade it should be portable and divisible; otherwise it will be difficult to
carry money 5V o to buy goods of lower denomlnatron :
This function of money Iremoves the need for double corncrdence of wants)arvd
therefore facrhtates trade.- ‘, SO S L
e It also separates the transactrons in tlme and place because sellers and buyer, of =
commodity are not required to perform the transactions at the same time and place
@ it gives. freedom of choice as consumers can buy a bundle- of goods and services, It
increases competition and widens the market. i .
@9 It facilitates exchange and helps improve economlc effrcrency by allowmg Specrahza‘ o
and dwrsmn of labour.

Q . 2O\
.

SNNRTEEN

(if} Unit of account ' -
Monev is used as a unit by which prices are established in doll:* s and cents. This function :
_applies ta both current and projected transactions. _ -—"———”‘
e Money can be used to price goods and services,
eliminates the need of guoting the price of,goods in

e.g. quoting price of sweets in terms of chocolates -

« Money can be used to put establish exchanee'ratee‘, e.£0588

s Itis also a means of establishing relatnonshlp beiwes
Slisequalto 100 cents. ,

¢ This function facilitates accountu’g\/a\ue of mon ey
accounting transactions are recorded in monetary va

The function is also relevant for future transacuons for instance’ when maney Is

borrowed, the lender can add interest payment to tell the barrower how much ne wil
have to pay in the future. :

I dttie' of mineral water. it z

ofher goods asin "a":'

s units of a currency,

v
({\I

®

U.l‘l

an b e_recorded and summesd,

(iii) Store of value/wealth

Money can be held or stored for a penod of tlme before it is used lt can ‘be accumulated to
, provrde 2 source of wealth. : :
el To act as a unit of account, the good chosen must be something that is durable and can

be easrly stored. Also the holder of asset must have confldence that the asset will retain
. Itsvalue over time. ' :

Money as a store of value IS used.to meet unforeseen emggencnes and top ay debts.

Individuals’ wealth can be stored in. a range of assets and notjust money Other assets
in which wealth can be stored-can include bonds, houses, land dlamonds gold and like
that. The benefits of these assets can be that they generate mcome and that their value
may rise in terms of money. However, they have drawbacks such as hlgh storage cocts,
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depreciation in some of these assets, and |Ihquld|ty of some of these assets 50 that the 45
cannot easily be converted into money. - '
« Money is one way of storing wealth.. For. example coms and notes bank deF’0°lts g
bonds; stocks-and other forms of holdlng money can b“e_; used as the basrs for storage’.‘,"“
over time. Their- advantag s securlty, convemence and hquudrty However the
drawback is that value of | money may fall due to |nflat|on !

(iv) Standard for deferred payment : - S
payments to be made in the future can be denomlnated in money terms in JUSt the same way -
as can a payment to be made today. Money is acting as a unit of account here with an’ added:" " -
dimension of time. If money can perform all of the first three functions, it will a!so act 2sa
standard of deferred payment. And a failure in above functions can lead to a farlure in the-
function as a standard of deferred payment.

» Money has simplified both the taking and repayment of loans unlike in barter where the

repayment of loan that was taken in shape of a horse or a commodrtv was dlfﬁcult 2|

o It simplifies credit transactions that allows. credit to be mtroduced in the economy._»
Money facilitates borrowing by consumers to buy houses and like that; and by frrm, to .
invest. It helps in selling of shares and debentures that can used to buy caprta! leadmp to S
shifts in PPC. ‘ : : - A S
If value of money increases over time (such as rn deflatron) the credrtors gam and“ L
debtors lose. If value of money fall over time. (such as in mflatron) the borrowers gain .
and debtors lose. The uncertainty over fall in rise m value of’ currency can be overcome :
by linking the value of debt to a price i mdex which measure rnﬂatlon Such mdex lrnked
contracts help protect the purchasing power of 1 money g

Clnflatron and the functions of money% .
Inflation is the general and sustained increase in ‘price levels over trme lnﬂatron adversely
affects the functions of -money. However, the affect depends on the severlty of the rate of -
inflation. . - AP S ADR : _

Low rates of inflation wrll not- have a major |mpact on the medl of exchange ft 15', R
only when there is hyperinflation that people start losing confidence in money and'may

resort to barter However, even in hyperrnflatlon such as rn Zrmbabwe rnoney was strll
used. : :

/ The unit of account is affected by rnﬂatlon'

values over time. A nomrnal rise in: GDP can be,due toa. nse i
price levels. To fmd the real change’ m GDP we' needto m
figures. Ve

/ Inflation also affects the store of value functron Fall in value of money ue to’ mflatronr_ o
should discourage " =smgs as these would be ‘devaluéd.: Peoplemay try: to..find "
alternative means of storing their wealth’ such as gold forergn currency,lland and lndex-'.;.-

linked financial assets. This is especnally true when. the real rates of’ mterest (Interest Iessv-

rate of inflation) becomes negative. However, some’ studies show" that mflatlon may i

'ts to: nommal e
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actually result in a rise in savmgs as people belleved they would need higher real
reserves in the future, =

P

« Inflation also affects the standard of deferred payment flinctlon Busmesses may be 2?
e unwilling to ong: enods of time if they fear a ‘decline in value of money. :
However, people !’_ﬂ‘_b_E_m_QEEJNJJ 0 borrow" money as the real value of debt falls ,:
due to inflation. : - . e _ :/:2
« Inflation may also affect demand for currencv ngh rates of |nflat|on will make the - ”4
currency less acceptable mternatlonallv causmg a fall in ltS demand and a fall in its
value. —
Conclusion g ' DL e

it is important that money performs its functions for smooth warking of all econormes If any of
the functions breaks down, people will lose confidence in money leading to economic collapse.

Government_economic policies therefore try to ensure that functlons of money do not break
down. Otherwise it may lead to collapse of the economlcsystem e :

4.3 Barter LT A T e s e D

In the absence of money, transactions take place by use of barter BARTER is

exchange of one good or service for another For mstance a. buyer may buy wheat by giving .
cows in return. :
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Drawbacks of barter
Rarter has several drawbacks thet are llsted Delow

There must be double coincidzence of wants. Both buyers and sellers must have the nead
for the goods and services that they want 10 axchange: In the absence of double
coincidence of wants, trade will not a2 placa. rherefore, .the goods must be
acceptable to both parties ctherwise trace wi. 1 not taike place.

« Goods that are being used in parter meay not be r,orl,.ble hence it wxll be difficult tc

carry them resulting in reduction in trade and economic activity.

¢ Some of the goods (e.g. car) may r.ot be Jl\:gs,-hlc and hence W|II not be able to buy
goods of lower denomination. i X

e Thereisalack of a Erlr;\’o_nw makmg trade dlfficult as |t dlfﬂcult to find what
th= market prlcefor exchanging goods 160 e St e T

¢ Future payments or contractual payments would be very dlfflcult to make under barter’
system. :

Storing goods will be difficult as some goods may not bg durable (e g |ce), and for
others individuals wﬂl incur heavy storage costs and thelr value may also declme over
tirne. ' '

e Perishable goods will need to be traded qunckly otherwuse they W|Il Iose thelr value and
ot =
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Bazrter trade is therefore slow, cumbersorne, time consuming and very impractical. i
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) ThlS mea
« Barter also forceslndwuduals td become seﬂgﬁlﬂéntd il C
specialization and hence results in lack o‘f productivity and efficient V

Benefits of monev

If buyers and sellers have complete confndence in monéy; then it will have followmg beneflt,

hereis no need for double comcndence of wants

It will facilitate trade because t (
‘)@ Individuals, firms arA n-tions can. specnallze in producmg certaln goods and Serces l

because trade is NOW edsy. d , :
@ This leads to improvement in productlwty levels, hlg;@Loutput and lower cosr of
procyctuon . .
Higher output levels leads to hlgheremployment Ievels hlgherlrlc—or’n,e‘;levels and better ;
living standards T — e T T
~.]/ Money 7 3lso facilitates mternatlonal trade and the economle, eet‘be‘seQUent b_en'ef.its'_lgf,"_‘-
trade. o ., s , L fo
‘s Money can be used for mal&ng future paymenu ‘therefore credit can be eas;ly
</ introduced. in the economy that leads to . hlgher demr 1, l“ he output‘“and more "', '
employment opportumtles : ) Sl I s

‘7. l'.., P

Drawbacks: of money
Howeyer, money has its drawbacks too SR .
\/The major drawback of money is the potentlal inflation that may- result lf aovernment.
prints too much money. High inflation Ievels may reault ina loss.of conﬁdence m money .
leading to a failure of the system. : e e
Another major problem with money is counterfeltlng Government needs to ta'<e steps ‘
against counterfeit notes and introduce measures that ‘restrict counterfeltmg In the 5
absence of such steps, value of money will fall and people will lose confldence in money g

It can therefore be concluded that introduction of money-in a barter economy will ac:l tate .
a mternatlonal trade ThlS leads to im rovement nNving -
trad},,umprove efﬁcuency and increase lea p e “.&g‘

standards as well. ; S TRty
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—— -5 “ Specialization and Division of labour
5 Specialization and Division of Labour R

LABOUR refers to people in the wo

FORCE is defined as the toral num:dng ?80 uho are hothjlling and o e tqy;érk. LABOUR
er o o ’2"
efers to both employed’ ang worker e available for work. Labour force

_ unemployed and | ' :
contribute to pl'Odmib’ﬁol 800(’& ‘Ploy includes all males and females who can__
-——'—_—-_\

s and services (normally aged 16 years and above).

5.1 Specialization S
2 i WA I s SR et Fig e
SPEC‘AF‘AT|0N is the process by which_individuals, firms “and economies concentrate on

PI'OduCInB thOSE BOOGS and i S, e cl— e
Al services where they have ar advaritage over others. = _
® )ecia ; T —— e
cgncentzraatt‘i(:]f:g :::OWS w, firms and nations to become more efficient by
a particular activity, This leads tasurglusnc hat are sold to others to
earn money, ' i g iR L

l\-lo.one is sElf-sufficient as, pgople,'firmé an‘d’léé_‘o'r{cj‘rhie'is t6n"£ént}éfé""6n:':produ'cing a
Jlimited range ofgods and services. It therefore” becomes necessary to exchange or
Irade-goods and services. Money eamed from trade is used to. buy-the goods and

servicets that the\( need and which are produced by other people. Money is therefore
essential for specialization and trade to take place. ’ '

Different levels of specialization

* Specialization by occupation where individual peccle

concentrate on these (e.p. teachers and oot
allows them to concentrate on jobs for vinicn thew z:
¢ Specialization in the workplace - division of lzbour

e Specialization by firms where firms anc foct

rr e e
rallLnes v

acquire particular skills and
in their occupations). This

pecizlize in particular products.
One firm may specialize in cne.industry, z.z. oot zrid anctner firm.in another industry,
e.g. automobiles. Within one company, m-::-ziaué’.-fédbﬁésma\/'_produce_particular
components which are then assembled at another factory. =0 o
Specialization by region where a particular region in a 'coﬁntry"'spéc}alvizes in the
production of certain types of goods or services. For ex_ample,vSFalkq_t'in Pakistan is
famous for its sports industry. Multan in Pakisf;an...;pn;e‘nt_ratés":'on .agricultural
production, especially of mangoes and _cvotton‘. ST ' 4;; . .;'_:-'v-_’_'::": . -

« Specialization by country where countries focus on producing those goods and services

in which they have a gomparati\)e advantag@ This depends on the factor endowmert,—

e.g..Saudia Arabia has abundant oil reserves and therefore specialize'in oil; Pé({,’g{ﬁ
abumt 2rable land with suitable cimate for agriculture and therefore specializes in
agriculture and agri-based industrigs. : R D :

—

.

Benefits of specialization e Tt e R e L el b '
e At an individual level, the benefit is that ‘individual .'can-spemallze‘ in one - task that

improves his efficiene B v e i L
e At a firm level the benefit is that firms can practice division of labour and can get the
— . X el v
i its as di d below. : RERPELY
associated.benefits Ias‘dlscusse pelow |
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5 Specrallzatron and DlVISIOn of, l
. l\\'

At regional and natlonal level, . the beneflts of specnaltzatron_ re/‘ dlSCUssed m

international trade .along with, the theory. of comparatlve advantag Regron il ang.
national specnallzatlon allows fise in world output and a. rlse in world lrvmg Standards '

National specialization also allows trade to take place that results in outward shrft in
PPC.

Risks of specialization

Specialization means that no one is self sufhcrent Therefore it mcrease the inter-

dependence of people and natrons on each other Thrs is eSperrally rrsky for hations if

political conflicty result in reductron i trade and na‘uon output»grv:ng rise’ to
unemployment. ‘- o | e

At an individual level, the: risk | is that’ the specrah:t skrll“ of 8” indi WC’UE” may become

redundant to changmg technologies. Individuals therefore need 1ok
skilled and to be. able t6 move between occupatrons rf they
the rapid pace of technologrcal change

‘lo nble and rnultr-

es ully counter

At regional-and: national level the rrsk is. of over specrallza uOl" fvhore 3 change in
consumer tastes can mean that the goods and services produced by a region or country
are no longer demanded in the same quantity. This results in a loss of output and GDP, a

ise in unemployment, a fal_wr_tg_star_t_dams, a fall lrl_t@ia_ﬂce_nﬁpiyments and a fall
in exchange rat _ nh A KL

Specialization depends on following factors

People’s ability to exchange what they make for what they need

using-money as ai
medium of exchange.-

The extent of the market - If a market is veryla_r& th‘en _mass produc 'n can, take place
and division of Iabour ‘can be mtroduced On the’ other hand DMrke_ts SErve a:
small market and do not allow division of labour-to. take plagce. i :
Need good transport facilities for the distribution of goods — Developments in air and
sea transport have made it possible to. dtstnbute goods m an mternatlonal market

5.2

Division of labour

DIVISION OF LABOUR refers to specialization by mdrv:duals where productron process s

divided into small tasks and one worker is specialized to perform one task only. Adam Smith, in

" his famous book ‘The Wealth of Nations’, described how division of labour amongst p|n workers
mcreased their productivity levels manifold.

Firms break up the production process into a number of smaller tasks

The product is made @ -~2n ssembly lln and the product moves rather than’ the
workers,

Each _worker performs a parttcular task and the fhrshed artlcle at the end of the
assembly line is the comblned effort of many workers

N N A
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This leads to 7%

’ avement of More_training_for workers maklng them more Eg_d_u_% to léss 7
MOVEMENE 0l Workers hence sauing_time; “to use of more tools and machlnes that %
improve productivity of workers and_lWE”fhat- v F-’:
genefits of division of labour :;2
a0 . ¥

&) Specialization enables workers to galn skills in a marrow range of tasks thus making 7
workers more productive, . _ - ’ : 4

[

SR

it

Division of labour makes it cost- effectlve to. prowde workers wnh. speCIallst tools ‘that
can be shared by the workers and i |mprove thelr productlvsty

o Itenables ti§ greater use of’ machmery, technology and the use of

\

s

5

X

s

_,«-\/L/lt reduces the'need for labour leadlng_@wablemsts “ve ?
o Time is saved because a worker. is not constantly changmg tasks oving around from f‘é
place to place and using dlfferent ‘machinery and tools 3'/
Workers can specialize in those tasks to'whlch'th”ey are uite e ,i;
<=1t leads. to deskilling (tasks are often simple that need 'onl/e'r'-_5ki'lls)'j'and-,therefore'flfms 5
.Canpay lower wages. = . S T e e P 2

It allows manufacturer to take advantage of economies of scale.

&7

. ) . . s

¢ Higher productivity leads to lower cost of prod@tjog that makes a flrm’s output more :;

competitive and firm can also-l ower erce L : E

» Without specialization, economies and. workers Wl“ need to become self—sufﬂcnent in ;’z{«,

order to survive. This limits their choice and deteriorates standard of llvmg :;5

s ltincreases overall proguctivity in the economy resulting in-an outward shift in the PPC. };’j

Limitations , i g iy 7
s  Work can become tecious 2ng racnot ‘0N 03 ;eadl \g to boredom mlstakes lndustrlal

unrest, loss of output and poo: Zuality,.

g

ot requires esklllmg that again ma kes WdrK -e’“s mteres ting eadmg 0 emotlvatlon
/ As size of factories become larger, workers becorme dlstant from managers leadlng to
s

demotivation and less control.

Thare is greater unemplovment asitisa capltal lntenswe process

ST
AN

e e A R TR RS

Size of market sets limit on division of labour. Firms in small markets'may not be able to
specialize-and instead produce a variety of goods to satlsl’y the market _

_»”" Over-specialization can be dangerous if the demand for the product starts to fall. This
will lead to higher unemployment in the area. :

) e Production processes in division of labour are closely linked, wuth one another. A

: breakdown in_part of the chain of production’can halt the Qroductlon process. For

instance, 18 Toyota production plants in Japan were brought’ to a halt for two weeks in
1997 when the factory. of the. sole. §uppl|er of brake parts”

V'y,otaf' Japan was

P destroyed in a fire. A i
: 2 Specialization will need exchange wh;ch effncnently takes place only m\the presence of l
Yo money.

_/ Division o'f labourleads to standardlzed products and a'lack. of vanety because each
product has passed through exactly the same process '

......
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VIR Spccinlimiob and Divigion of Iatiogy
There is a greater risk of unemplovme’nt"'l'f"}déniénd for J.g'.bméi ‘ébods" /dééllné, ’Thé :
unemployed workers will find it difficult to find jobs in other industries due to lack of
skills. ‘

Conditions for division of labour. . L g o ,'< S
Division of labour is most suitable in following COhdlthﬂS L S .
o Production is in very age quantmeJ (mass. productlon) such as m the\‘”c,la's'e bf{c’onéume;_
durables like cars, televisions etc. : o : i
e Thereis standardization of goods where all products are alnke or where parts are made
that can be used in several dlfferent productr L bt IR
o There must be a medium of exchange such as money r)lher\m se spec:alwatlon wull mean :
that workers will have surpluses that they cannot se IR suc h 352 baker wuﬂ have a lot of
bread that he finds difficult to sell. : S . U X
¢ There must also be good transport facilities that aid in :(an,:»:;:orration of goods from one
region to another,
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o S . ... "i. g—Economic Systems

¢ Economic systems (different. allocatwe mechamsms)
pasic economic problem

The basic economic problem is that of s _@Lcﬂ\t Wthh stems from th ) fact that an economy has

limited resources and unhmlted wants Thls meaf_s that all o“the Wants cannot be satlsfued :

which leads to the problem of scarcity.

o Scarcity can also be shown on the productlon possubrlntv curve (PPC) The boundary of
PPC shows the_opportunity cost of prodqcmg produc CA any-one: pomt :an ‘economy

cannot produce more of both goods if it operahng on PPC All of the area above PPC
hence represents scmr\e economy. '

Scarcity means that the economy has to make chorces and the governments have to ask
themselves following questions — what is produced, how they are produced, and for

whom are the goods produced. The answers to these questlons depend on what
econom\c system a government decides to operate. '

==

‘ECONOMIC SYSTEM can hence be descnbed as the: rn_e_ans or the allocatrve mechanism by

which its people, businesses and government make .choices. Wrthm an economic system there
will be various actors rncludlng

yo individuals — They are cgnsumers and pro_gugers They may own factors of productlon
P g that they supply for productlon purposes g LT :
Ll_- Groups — Firms, trade unions, political pames famlhes and charltles
_’"" — ——
,* Government - Government “might range from \ocal authorlty ‘to a national or
international parliament. It establishes and’influence; 5the relatlonshlps between groups,
P& for instance, through the passing of the faw.

Economists have recognlzed three distinct types of economic
‘') «  Market economy
¢ Command or planned economy
e Mixed economy

6.1 The market economy (free market economy / capltahsm/ Lalssez Faire
system)
FREE MARKET is an economic system in Wthh resource allocatlon dec1s:ons are taken by
househalds and firms through the use of pnce mechanisr
from the

jth no or minimal interference

¢ In a purely free market. economy, there is. no government mterventlon However in
reality governments. have some |merventlon to check the. operatuons of the ma rket and
to ensure availability of essentlal goods and services suchidefenca o _

» This is not a very realistic mode\ and there are very few if any, examples of market
economy that could be found. The closest economy 10 a free market will be that of USA USA -
and Hong Kong. , _ " e A B

-
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-6 ~ Economic Systems
*—\'\

Characteristics of a market economy .
Following are some of the key charactenstscs of a_market economy“ _ RTRNE
* Ownership:Nearly all of the country¢ _factor "'of proddctlon are/owned pnvately by
individuals or groups of .individuals. They then rent them ‘but to the firms so that they ‘
can produce the goods and. services. Government has- a very limited role. 5unh as
upholding property nghts of these- prlvate individuals through the Iegal system XN
Objectives: Everyone in this. system s motrvated by pute self-interest.” Consumers'
maximize their welfare. Firms: mammuze profrts anate mduvrduals who_ own the factors-f )
of production, aim to maximize rents, wages mterest and proﬁt BRI o
Free enterprise: There is freedom of choice in both productlon and consumptlon F:rms
can sell anything they want and try to respond effectively to consumer demand.

Consumers are allowed to buy anythmg that is sold by the producers Workers can. take
on any job they want. j :

The level of competition: The level of compet\tron is- axoe ed o be very. hlgh It is
assumed that nearly every market is a perfectly comoe*;'rrve ons, h riumerous buyers
and sellers and-no barriers to entry or exit. Firms are c\,’f““"rmge, lesperately for
customers and the consumers are competing with each other for the gocds on offer.
Allocative mechanism is the prrce mechamsm MAR! <:T E rx.i“‘e.a!’i
where decisions on price. and quantlty are 'made on the o3 d and suaply
alone. Price_mechanism allocates the EConomys re>oi rcec .,-rroum rre°"mterp!ay of .

- demand and supply forces. Pnce actsas a signal and an ‘ncent, e for producers toactin -

the required way so as to maximize their gain, Wthh in turn, upumlzes the allocation of
resources in the whole economy. ngher prices : indicate hngher demand IeveI, or-
shortages and producers shift resources to produce such goods. Lower prices indicate - '
lower demand levels or excess supply and producers sh:ft resources fo other goods

« Decentralized decision making. There is no smgln body Wthh allocates resources wuthm

the economy. Allocation of resources is the result of ‘countless decisions by individual
economic agents. This is as advocated by Adam Smith when he referred to an invisible

hand (self-interest) th.. “csultsin socially desirable allocation of resources. -

is the process:

R e P e

Answering the three economrc questlons e e e h ‘
What is produced? ST
In a free market, consumers, producers and the own.ers of the: fac’tors of productron mteract

with each other to allocate economy’s scarce- resources. Everyon‘= is motlvated by pure self- = -. "
interest. Consumers are trying to maxrmrze thelr utrllty, ﬂrms_‘are trymg ‘to" mammue proflts s el
and owners of factors of productron are trylng to maximize'th retums e :

Price mechamsm decrdes what is. produced ;_There is consumer sovereim A flrm wrll only..:.i_
produce a good if the consumer is willing to buy it. Therefore; it is the consumers who dictate
what should be produced. And the consumer wnlhngness is represented in the’ form of price .
mechanism. Question of morality does not come into play in this system. If consumers want -
more coffee, this will shift the demand curve for coffee to the right’ Ieadmg to a rise ln prices. .
This signals to producers to produce more coffee Thls wrll also affect the factor market ngher
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m - ik . 6 —Economic systems

ectors Qf'thé‘.‘ecioh‘éjrﬁ\'(i into coffee production.

Thus, the . n resources psed in the production of that good where demand has

How it is or_oddced? ‘
The firms will sel\ect th
maximizes profit§. Co

at methqd of p'jrhodulcti(v:n.‘\;\:l:h'ich"ﬁédu"cés"t.héif'_tdsﬁ.t" of production and
e i .m_petmg firms will try to pit “technical and economic efficiency into
practice. Economic efficiency refers to the least cost of producing goods that are desired by the

consumgrs. Price mechanism and market forces play an important role in ideal mix of factors of
production. The costs of factors of production will de

production. Abundant resource tends to be
where labour is expensive and capital is che

( pend on the availability of factors of
cheaper than thevs‘carcé_'rresou‘rce. In countries
i ap such as in developed countries like USA and
Japan, firms use more capital-intensive processes. In countries where capital is expensive and

labour is cheap stch as in developing countries like Pakistan

) i and Bangladesh, firms use more
labour-intensive methods. RS _ ,

For whom is it produced?

Producers must ensure allocative efficiency in deciding “for ' whom 6 produce’. Consumer’s
‘money votes' decide what is produced. Those with more money will be able to consume more
of the goods produced. The process is therefore biased in favour of those goods that are
demanded by the rich. Free market system tends to create an unfair distribution of income. The
wealthy consume a disproportionately large share of what is producéd.'

Role of government in a free market economy

In a pure free market, government does not directly interfere with market forces. However, in
reality, government may have to intervene and maintain a limited presence. It may have
following roles to play.

o Government provides public goods that are not preduced by private sector. These may

include defence, judiciary and the police force. e
+« Government raises money through taxes to pay for iis e::menafitﬁré.'
e Government issues money and maintains its value. ' -

Government needs to ensure an adequatz legal framawork for the-allocation and
- enforcement of property rights. There also" needs 10-be Iaw$ about contracts of
: pufrchase and sale. It must be illegal to destroy other people’s property wilfully.

o Government must have powers to break up monopolies, prevent practices that restrict

free trade, and control the activities of trade union. -’

The government therefore has a strategic role to play-in a market economy but it should
intervene as little as possible. ‘

Advantages of a Free market economy
~ Free market economy offers following benefits. - "
» Efficiency. There are many incentives in the free market that promotes efficiency.
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Dlsadvantages ofa free market economy :
Free market economy is not without its drawbacks Followmg are the key'drawback

L J
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'.vl‘

www.megalecture.com ol‘ hlgher competltlon and proﬁt
emain competltlve and to. '”C"ease,i

for lmprovmg thel. processes and”
trtlve ThlS leads to efflcuency in -

*  Firms try to become more efficient becau%e
mative. They try to reduce their costs to re
their profits. Firms . will contlnuously looR
reduce waste to make their good< more comlf’e
the economy. - v '

»  Workers will try i Cecome more eff crent an
levels will usually be rewarded with higher salaries or bonuses.-

Consumer sovereignty. Firms will produce those
customers. It therefore makes consumers more pOWE
resource allocation decisions if their demand changes.

Choice. There is more competition in the marke

are demanded by consumers. It therefore leads t
that are produced in a free market. Workers also have more ¢

occupation in which they intend to work.
Innovation. High levels of competition and proflt motlv

innovative and introducenew products-in-the. market Government (wuth its llmrted.i

interference) protects the mtellectual property. nghts of flrms through patents Tms L
foducts and earn: more 5T

gives a further incentive to firms to mtroduce better quallty ¢

profits. L . -
Higher economic growth rates. Countries- whose economlc syrtem has been nearer to :
_the free market model have grown much faster than those with 2 com“n:nd economy

Other benefits include the following:

e Higher production leading to rise in GDP greater taxes l“:F’I"E" lcome Ievels and

improved living standards.
e Lower unemployment results from greatnr economic activity.
e Lower poverty levels are a result of rising incomes and iower unemployment

« More development can take place due to greater tax revenue generated by the -

higher profits that governments.can investin burldlng mfrastructure
e Lower prices can result due to hlgher competltlon and more efﬂClency resultmg
in lower cost of production. Y ] ;

No shortages or surpluses: Price mechanlsm clears the market that results ln no L

shortages or surpluses

Underprovision of public and merit goods, and goods with positive externahtles -

o Public goods (e.g. defence and street lighting) cannot be provided prwatelv_. ) '
pecause of their twin characteristics of nDn-EXC|Udabl|lty and non-rivalry.. “This - E
leads to the problem of free riding and the private sector cannot produce thnﬁsg: Vi

goods. Government must therefore intervene to provrde such goods

market because of lack of information.

MEGA LECTURE

lecture.con

d productive as'hlgher produchv'ty-.g :

goods that are demanded by the -
rful and they lnfluence thef |

t and frrms wul produce products that» ,
o3 large choice of goods and services. .
honce m terms of the -

e w1ll force flrm 'to become

e C—

Merit goods, like health and education; tend to be" under provrded 'ln a free S
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d
Overproduction of demerit goods and goods with negative externallties,

o Demerit goods, like ci
garettes tend to b
ack of 'nfOrmatron,_ | e overproduced ina free market due to

o Free markets ignore externalities and therefore produce more negative
externalities such as pollution.
Private sector monopolies. Free markets can sometime fail to provide sufficient
competition and_lead to establishment of private sector monopolres that reduces
output, increases prices, and is less efficient and mnovatwe .
Unequal “distribution of income -and- wealth. Free markets can Iead to unequal
distribution of income and wealth where a few individuals end up owning and earning
most of the wealth and income of an economy. This inequality tends to increase over
time as rich keep getting richer and poor keep. getting poorer This can lead to civil
unrest and may eventually lead to political upheavals e
e Resource allocation in’ favour “of the rich. Free markets Work on the prmcrple of
economic democracy where each dollar has one vote (unlrke polmcal democracy which
vgrves each person one vote). Since rich own more: ‘dollars, they- also- “get more votes.
i Therefore, an economy produces more of the goods that are demanded by the rich and
‘ less of those goods that are demanded by the pobr; " _ i

5 Conclusion A A :

’ Miany economists consrder free markets to be the most efflcrent system ln the long run,
assuming that there is competition in the market, free market must achieve efficiency that

l results in best utilization of the limited factors of production. This snould reduce the problem of
scarcity in the economy. However, since scarcity arises from lack of .resources, even free
markets cannot overcome the problem. Economists generally ronsrder this to be better than
other systems because of its efficiency. it must be keptin mind -'\ougn that free markets may
=150 lead to market failure leading to government acil ion to corredt lhe fallure

. _’__,___'_-————

.

. 6.2 Planned economy {Command economnty, Commun 1sm Socrai:s:m}
Ir. a COMMAND OR CENTRALLY PLANNED ECOI \lOr\’l\’ resource all ocatlon dEL sions are taken
| by the government by keeping in mind all (socral) costs ano aeneflts of adecision. The firms are

owned-bythe state and they do not operate for maxrmrzmg prOfI‘[S ‘Resources are allocated by
the government through @ planning process. “In a pure planned economy, every item is
allocated through-rationing from education and health to clothes and food 7
¢ Pianned economies get their lnsplratlon from the works of Karl Marx who- crrtrclzed free
markets and predrcted class confllcts between “the wealthy and ‘the poor He also
criticized use of capital as"it, led to higher. unemployment and- reduced earning

KA R, M S R S
- PN . " . o

opportunities for individuals. He also criticized the system as ‘concentrating production

in the ‘hands of large’ monopolistic industrial and commercial organizations. His

criticisms are found to be excessive by many. economists. However his prEdlCtlon of
concentration of production : systems has largely proved true..
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« Ina command economy, central government and.other state bo
of the following: ' ’ ' .
o allocation of resources, R S
o determination of production targets for all“se“c’t:d‘r‘s."jdf thg econorny, . . ':.
o distribution of income and determination of wages, %" ..
o ownership of most productive resources and property, and'
o planning the long-term growth of the economy. L |
« However, it is very difficult for all enterprise to be publicly owned. Therefore, there js 3
limited opportunity .for the private ownership of smgll_‘b.uslnt‘e“ssg‘s _‘s.uch_ as shaps,
restaurants and personal services S}J}Ch'alsvhva:ird‘reslsin‘g, and C|‘e?’ning‘;‘l:f o ‘
Planned economy is also an extreme. of economic $ystems and is not found in its true " -
form today. Most of the economies 'arei.‘mi‘)‘(e'd today. Théquéest_ economy to a planned
economy is North Korea, ¢ %0 T |
* Democratic countries pursue similar but less extreme principles in the name of
socialism. SN e :

(

‘ ‘ ' : ' : !
Characteristics of a planned economy ' S
®

government (or the state). The only factor over which the zovernment does not have
total control is labour, but they certainly have indirect contro! ver the workers.

Free enterprise: There is no choice and the central authority diracts and decides which
types of goods and services are produced. There is therefore producer sovereignty.
Objectives: There is no profit motive and the state-owned enterprises work to provide a

benefit to the society. Consumers, workers and the government aré all assumed to be
working for the 'common good', i.e. collective social welfare. SRR

The level of competition: There is very little competition as all the factors of production

are owned by the state.’'However, there may be a black market that develops as a result
of shortages. And there: 31 be competition amongst the black market firms. ‘

Allocative mechanism: There Is no price'mechanism. The authorities set the bricﬁes. They

set prices at low levels to make sure that everyone can afford the goods. This however '

may led to long queues or creation of a black market. Government will therefore use
some rationing mechanism such as setting quotas and - rations for families and
individuals, ‘ e Ll S .

Ownership: Nearly all of the country's factors of prbduclion ar2 owned publicly by the
|
!

The planning system: Government plans how all the resources should be used. They
decide what is produced and what quantities, how goods are made (how much labouris
used and which method of production is used) and how the goods are divided between
different groups in the economy. Government directly set the output levels and price
levels. Government considers all (soclal) costs and benefits when taking a decision and
therefore tries to minimize negative externalities such as pollution. "~ " . .. -
o There s equality of Income and ‘wealth;“lncdme'\l‘s'fv‘ér‘y é'v'(a“r{ly“’cil"str'lbljhté'c\ii:"" SRR
Conslders all (soclal) costs and benefits, Government ‘considers all costs to the society -
before taking a declsion. This should lead to a soclally optimal decisign, © =~ - -

R
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Answermg the three economic questions
what will be | roduced? o
The planners {or the Bovernment) dECidE what WIII be produced The groblem is that the
planners may find it difficult to know what ¢ consumers want Thrs may Iead to over- or under-
proguction of goods and services, ‘
’h—_\__—__—./'—

.
SN

RN
ANASY

L
= rerntd

S

How will | will it be produced?

The planners direct the resources mto producmg Gnits" All f"-m
—‘-——-r—.___.__._&
and there is no free enterpnse Planners therefore'd ;

R

For whom to produce? R _ |
The planner tries to be fair in dlstrrbutmg output of the economy Wages are determmed by the
planners. Prices of the goods are set by the planners--Government |s, effectwely, determmmg
how much each consumer can consum S e

=

WA b

N AN
X

e.

Advantages-ofaxommand-economy

Command-economies have several advantages that are explamed below. .
s Produce public ublic goods, merit goods and'goods with posltwe externalities.

o Public goods have the twin charactenstrcs of non- excludabrhty and non-rivalry.

These are under- -produced in a free market Ment goods such as health and S
education are also under-produced ina free marke '

o Strong government will make sure- that publrc and-merrt goods are consumed at
the right levels and are provided by the government.

Equal distribution of income. 5t rong gover nme'rt wrl! try to make sure that nobody falls
through the safety net i'f will oe 3 ven though itiis hkely to be less

a fmrer ecr‘nomy, e
successful overall.

Control over negatlve extemmmes ‘md dﬁ."’ﬂe:ﬁt goods Government can ban demerit

goods. 1t can also try to use prod: uction methods. *huc are en\nronmentally superro in

theory, they should have been able to monitor ponutron levels closely, given that they
had control of production, but this simply did not nappen Command economies of the
80s had notoriously poor records on the environment. RTI

No duplrcatron of effort and._ reduces wasteful expendlture Smce there lS no
competition, a planned economy is able to avoid duphcatron of productlon It also-saves
on advertisement expendlture which is considered by many as a wasteful expenditure.

Profits of the public enterprises are available to all citizens in the economy and henCn.
Create more even distribution of income and wea\th

Disadvantages
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e

Equality in income creates 3 drsmcentive to work an ot makmg local fitme less“-‘:
~less productive. This leads to increase in. roductio

" competitive internationally. It results in [gd_UPL'Q'llrlixut"i and a deterroratlonof the. -~
balance of payments. .

¢ Less ch0|c: ':he planner will be more concerned ‘with making Sl;;e thelre gre enough
essential- goods to go around rather. than a|locat|ng resources e lcnsn Yh e Ween al
goods. There will be fewer goods avarlable to cmzens hence reduc ng t “err choice.’ e
o Less innovation. Thefe.is no incentive for the plann iv AS Iong 35 they S
produce the essentials the planners will be happy . Lo g
« low economic growth rates. Since the Second World War’ the commandeconomres -
have had the worst record in terms of economic gr0wth AR e o
* Red-tapism, bureaucracy and: slow decision making.. Since aII decrsrons are taken b\’ S

central planning authority, it slows. down the dec:snon makrng DFOCESS and Ieads to- E
delays. " ' T ‘ ‘

Producer savereignty. State- owned enterpnses and the central planmng garn ‘mare
importance. Consumer demand-is at times. not considered. This-leads to-a reduction in
consumer power. . _ . M »
Shortage. Lack of a proper allocative mechamsm and low prices Iead to shortages in the ,
market- even for the most essential goods This. leads to excesswe queurng and
development of a black market for goods and servrces ' 5 :

Poor quality. State production can be of poor quahty as there isno rncentrve to innovate
and improve quality. ‘

Conclusion

Planned economies of Eastern Europe and USSR drd not perform ver\, ueh and fell well short of
the growth exhibited by free market economies of USA and Europe: This was iargely due to the .
inefficiency of the state- owned enterprises, ‘corruption and red-tapism, - and absence - of
incentives to become productive. At the same time, Karl Marx’s fears did not materialize and .
the free markets did not evidence a class clash as predicted’ by Marx This has led to many
economists crrtrcrzrng planned economies and suggesting-a.move towards prlvate enterprise.

Eastern European countries and’ Russia have also made a shift from planned toward free marl\et
economies. |

6.3 ered economy (A more realistic model) -

MlXED ECONOMY is a more reallstrc model where market forces.'and government re both

S Firms il try to maxlmrze
profrts Consumers. wil try to maximize welfare Factor owners wrll maxrmlze rent

d hence workers tend to beComef" .
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interest and profit. Public " g, e o i 7

. sector, on the oth s I, i

- - =10 er hand, is i
for providing 3 social benefit. | » 15 Not v\_lorkmg‘ for profit and aims "l'z;
ent : e. _ . ) . . -- A . . i‘:il',

. Thl:rt:: Iev:fpnsl ot rf€e entarprise exists only in the private sector. é,’
mpetiti i v

* \ ompetition. Private sector can be quite competitive.’ It depends. on the .
market structure that prevails in-the' \ 7
whose job is 1o make the vanous mdustne_ Governments set. up bodues i
makKe sure that mdustnes do not Become too uncompetmve. : ”

« Aliocative mechznism. o ; L ¥

¢ Price me : ' N e SRR ' o

chanism operates in the pnvate sector. lts effmencyjd_ep‘ends on how e

compettive the market structu[ns are -4 “2:

c The govemment : i

: '€ £0VEMIMENt run activities, like hea|th and educatlon, tend to be provnded e

ree 2t the po o

) et ihe point of use, alt though there are- some charges even in’ these areas. ’,’i

FG“ priced goods provided by the government can result in shortages for which ‘,:,‘
government will have to find a rationing mechanism suich as setting quotas r'i

« Roleof government. Government has following roles to play. L
I's Pes = E‘.;,‘-‘;

< Regulzte economic activities of the private sector.. It needs to ensure that b
competition exists and that property laws-are upheld: i

b

© Government provides both public goods. and. merit - goods (educatnon and Em
nezlthcare). Government can provide: them dlrectly or. contract them out o 2

private firms (paid by the government),
Government

QO

19‘{ own strategic mdustrles or- sectors that have natural‘
monopolies (e.g. postal service and electricity mdustnes)._.

Real world examples . R g S e S I DR AR
Rimost zll economies today are mixed economies. However, the extent of the interference of
the government will vary. Some countries, such -as USA;

nave very little” government
interference and tend to be close to a free market, Some e

conemies, such as Zimbabwe, have a
very lerge public sector and tend to be closer 1o nlannec econ

noemy. Other economies have a
mixture of both private and public sectors. High memm irierferance though comes at a
st —nigher taz burden on the taxpayers. ' '

Advantages of private sector :
» Efficiency. Profit motive and competition wxll force firms to become more competitive
leading to lower costs and hetter quality.
¢ Consumer sovereignty. Private sector firms will try to produce goods that consumers
are willing to buy, s TR :
* Choice. Corpetition in prwate sector mcreases chonce forconsumers
* Innovation, Competition and profit motive forces firms to infovate. ', :
Other henefits, Other benefits stem from the pomts that are hsted above and can
include the following: : : : :
o Higher production
o Lower unemployment
o Lower poverty levels
o  More development
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o Lower prices : RN T ST TSI

o Improved Ilvlng standard_s ‘

Dlﬂadvnntnges of private sector . ot g i 8 K
Despite its benefits, private sector suffers lrom lollowlng drawbac H

. Underprovlslon of public and merit goods, and EOOdS Wlth pOS'”V,e‘ extemalrtles:. -
*  Unequal distribution of Income., .o RN i i

*  Qverproduction of demerit goods and goods with negatrve externa rtres.,

* Private sector monopolies: ERC IR ;

L] \

Resource allocatron in favour of the rrch e T

\

Advantages of public sector

Government will need to intervene In the market to corrert market failure. lt therefore
provrdes following benefits: ‘ | ‘
L N

Government provides public goods and merit. goods
Control over negative externalities and' demerit’ EOOdS
amount of negative externalities by imposing taxes; or through takmg legal actlons
~Government sector reduces wasteful expenditure. : ‘
Profits of the public enterprises are avallable to all
Create more even dlstrrbutron of i mcome and weal _ s
Government also uses progressnve taxatron and 3 systern of welfare payments to the
poor that reduces the drsparlty between the nch and the poor '
Government controls prices of essential goods. SR
Government can control working conditions and allow for a national minimum wage.-

Government can focus on long-run growth wrth mvestment in caortﬂr goods, trarmng
and education, and ini’ 7l ucture.

Government tries to promote competrtlon |n the economy by breakmw up monopolles

Disadvantages of pubtic sector :
However, public secter entities sufferfrom following drawbacks:

e Inefficiency caused by the fact that there is no profrtlmotrve and decrsron makrng is
slow. ‘ :

e Public sector is Iess mnovatrve and may evén provide poor: qualrty goods
e Red-tapism; bureaucracy and slow decrsron makrng

_e There is producer sovereignty. State- 'owned enterprrses and the central planmng may -

~ ignore consumer. tastesand. wants.. L

' 'f'o»: “Goods’ provrded by public Sactor at Tow cost or for fre
' leadrng to development of black economy..

Publlc sector may end up haV""g poor qualrty

Conclusron

"Mixed economy is therafore a mixture of free market and planned economy ‘In thvs system, '

there are: both pnvate sector, and publrc sector Its advantageS and drawbacks are also a.

AT s e

| ace ShOrtageaiin the;ma_'rke‘t" 45
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Comblnatlon of the two systems. Mlxed economy ls the most reallstrc system and |s the most
w;dely used system. : . RO

ST

| - . e

o

6.4 Whlch syslem is best? e SRR ' ”r';
poth free' markets and planned economies. have their advantages and drsadvantages As fa
extremes, neither of the systems work, but from- the expenence of the world economy over the 0

|ast few decades, it appears that the free market has won the argum N T iy
it would be misleading, though to say that the free market is- the winner wnthout any

A
provisions. Free markets with very limited governments would fail in other ways: poor health %r;é
and education services, low state benefits and pet‘lSlOﬂS and an unfarr drstrrbutuon of income. »’jﬂ'
Hence all economies in the world are NOW. mrxed But |t is. not clear how much should the ”
government intervene in the free market. This is a subjectrve decrsnon Some economles such as Iy

-
IR

US have low government lnvolvement and some I|l<e Zlmbabwe have hrgh ‘government
involvement. The-general consensus however is that economy will work better if there is little
government intervention. Government has a significant role but. too much government and too

much mterference in free market wrll lead to dlsmcentlves and loss m efﬁcrency and
productivity. : Ce Rl
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The extent to which the government should intervene is a n"rinat'ive"ouesti'on and a difficult
one at that. To sum up, governments need to get the balance r"'h' A1 civilized societies ought
10 have a minimum safety net of essential servmes but if it

taxes will make the economy fess efficient and less attractn @ i

is to0 2ig and el_Stlv the higher

o foreign rac_«:to's

As for overcoming the‘problem of sc‘:arcity’, the'more'eﬁic’re Lnee ';.!w'-mmy-', the lower will be
the problem of scarcity. Hence, free'markets with some governrment | itervention tend to lead
to higher efficiency and better allocation of resources than plaoneo economy However, no
economic system is in a position to eliminate. the problem ot ;carcn:y

6.5 Transrp neconomxes o
TRANSITION ECONRMIES are the formerly planned ec0nomle ] s

h'as édu’n’trles 'in' Eastern

Europe that are trym to shltt to the free market economy oSS i
What went wrong with the planned economres? SN _
(Characteristics and benefis and drawbacks of planned economnes were dlscussed earlrer)
¢ Central planning V{' S’ breaklng down: People s standard -of - luvmg was declining“and
people had to wait'in\on .,g__eues even to get essential goods and services. One of the ;?
reasons for'the mess was that the state owned enterprises began tggnore instructions p'é

from the government. {hy

IR

R¥s caused chaos as the output levels were not as planned and
_.this had knock on effect fo other enterprises that rehed on thls output

" PR
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. Obsolete capltal stock Unsur'rlslngly, invéstrmgnt from‘abroad was non-ekistent: Mcre iy
importantly, there was little in stment from within these economres The ca rtal Sto Ck S
was gld,obsglet e and falllng apa s :

failing. The old factories with their out- f-date. and. dlrtv machlnerv were c%
unacceptable level of air and water pollutron :
SOEs were inefﬁcrent that led to poor quallty and- hrgher osts of productron

fall of the Berlin Wall in 1989 that started the colla se of the communrst regrmes throu;:hout
the world.. P

Reforms that were needed to move towards free market
(i) Price lrberalrzatron R -‘
Government had to remove pnce controls and allow by the demand

and supply forces. This resulted in mflatron as prices lumped in the SR. However, this could
resultin lower queues as goods are rationed through prige mechanism. There can be gains from
price liberalization if the government allows domestri prrces to reflect world prlces more

closely.

¢ Since price lrberalrzatron isa dlfflcult decrsio'n some goverm“ents decrde to delay prrce
liberalization. Russian government delayed the decision because of the fear of effect of
price rise on real wages of workers. Sensrtrve pnCec {sur

as on food, housing and '
shelter) were not fully liberalized. i S, o

(ii) Removal of subsrdres

Government has to remove SUbSIdlES | -owned-. .enterprises. -‘(SOEs) The
inefficient state-owned sector was able to survive because of the subsidies: and subsidies keot
prices low hence keeprng out competrtron Removal of subsidies will. lead to mcrease in orlces

(iii) Prrvatrzatron :

' “OWne es..Privatization of'
small scale SOEs (such as shops, restaurants and” bars) created few. problems They were

handed over to their former managers or. owners This creat d 3 vrsrble srgn of transition to . i
market economy and was a source of employment generatro : w i . e T

Privatization of large scale SOEs was a problem as tha- gover nent'needed to ensure that firms.
responded to market signals and tried to reduce losses and’ lmprove profltabrlrty, there'should .
be a process of corporate control ensuring ‘that shareholders play an actrve role in appomtment

and removal of managers to ensure that the managers are working to maximize benefits for the
shareholders; and the government had to select a transparent method of pfivatizing that drdn t
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in Co,rruptron mcreased govern
ment rev
enue.

s gl -
ere handed :
erprises W Over to Efﬂment ent\’EPreneurs ‘m” 5?|ES and ‘ ensured that the

 pstablishing markets for Iabour etc, '

of markets (commod R s
kerttseconomles need marke?se?‘o;rlrnl;i f;Ctor markets) were absent n planned economres
or e oarment will naad to o oth- commodities: and factors of production to operate
S 0 allow demand and supply to )
el problems which eventually get settled as markets matu\re e f'ee'Y e
abour T market was no ‘
. L n- exrstent as workers were told by the government about their

activities. Workers will now need to f
fthe market eeelo] 'ﬂd Jobs accordmg to therr skrlls and become a part

| {v) Improve management techniques _
There was a need to improve management techmques as exrstrng managers lacked these skills.

;
Governmentlcould either restructure SOEs and orovrde tramJ, sell “5OEs to_foreign
multinationals-so that they: brmg modern management techmques thatiniprove efficiency.

mu

(vi) Trade lrberahzatlon _ S g o _
Government needed to reform trade pohcres by removmg state monopolv on trade emovrng

i Q_r_ngy_C_lng trade barriers (tariffs, quotas etc.); and. allowing ‘currency to be convertible. This
would create competmon for local firms Ieadrng to efﬂcrency, lower prices and more choice for

consumels. :
. Certa'm governments however decrded to protect the Iocal rndustnes from the pressure

fforergn competition. This is because the SOEs are inefficient and may not be able to
. initially; large increase in imports will lead to large deficits
r, this will mean that the: reform process will slow down
i.ed raw materrals will. be at'a‘ drsadvantage This may

(’_ 16

compete with foreign
on the current account. Howeve
and the firms that are ysing impor

also hurtexport from these firms. .. .=~ :
« Central European countries’ have been successful rn their

They were able to find new export markets in Europe an
overcome drawbacks of trade hberahzatron : _

r efforts of:trade hberalrzatron
d were able to successfully

i) Clrrren'cy convertibility - PRI ’ e R
. Government needed to make theH’ currencres convertlble Government can e:lt_her‘use floating
- or fixed exchange rate systems to make the currency convertrble :

.. (vili)  Reform of financial sector

" Government needed 1o reform following areas: X i
e Establishing an Wuscemw Whlch is free or ' vernment lnterventron so
' rest.rates rndependenﬂy of government and it

that it can control money supply and inté
can act as a Jender of last resort tothe commercral banks.: :
¢ Creating_banking institutions to collect savings and ¢ .

(especially SOEs) for restructuring them and |mprov1ng efficlency it !

hannel these savmgs to frrms 5
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o c
* Settingupa framework to supervise and regulate actlwtiestftt:::g‘::e El;eceioé p
*  Creating money markets in whlch gOVe”‘me“t can sell Honds . g \.e 'c'ts

N

These reforms are very difficult and are hkely to: take mang'e?:;rs tO .CPmP‘Ete .Experrence of -
financial sector refor ixed. Sorme examples are given. '

e In }:u?qgaegfo, r:civl:rnr:ment refused to bail-out banks which had made poor lendrng

decisions; sold them to foreign investors; and adopted tough bankrupzcy laws to ensure

banks could recover bad loans. As a result of these policies a a'fl‘.Qs_t_SM_OJh&hanks by
1996 were foreign-owned with very little bad dewml sector, : ;.-
Czech Republic on the othef hand ‘saw - that altmost 50% of . banks Ioans Were ;
unrecoverable. Policies adopted by the government léd to’ the failure of the financial
sector. Banks remained in state -ownership. These banks were, encouraged by the
government to finance many of the privatization of. SOEs’ creatmg a conflrct of mterest
Instead of calling in bad loans, C Czech banks gave former SOES more loans and makmg :
the firms hrghly indebted. The Iegal framework tended to favour flrnjs m debt Tather - f‘j.
than gwrng power to- banks to recover debt These polrcres led .10 high Ievéls of bad "
debts and the Czech i - ament was forced to ball out banks for fear of coIIapse of the
financial sector, It eventually began the process of prrvatrzatron o

(ix) Establishing a stock market : '
Stock market would enable newly formed entel prlses to ralse flnance for growth

(x) Changing culture |

Government will need to change the culture in the economy to make it efficient and effective.
Economy will need to accept failure so that only efficient and successful firms will survive and
inefficient firms (e.g. SOEs) should be allowed to go down and to bn rvp:aeed by efflment ﬂrms

(xi)ChangeinIaws T e S i
°

Government needs taxatlon reforms as formerly aIl pro fits of SOEs went to lhe
government but now government will need to rarse revenue to finance its spendmc
Initially, the government will face the: problem of a. smal\ tax base wh|ch over lee is
expected to expand as firms become more efficient and employ more people

assets belonged to the government but with a shift to the market asset ownershrp will

shift to private individuals and firms. Government will need to protect thelr prOperty ifit
wants its reforms to become successful.

Outcome of reforms

All of the transition economies experlenced pain dunng the lransrtlon '
Output fell dramatically, " MRS N

inflation rose (hypennﬂatlon in some of the countries), E : e "1 3 _ g
BoP deteriorated, R RURS _

devaluation of currency took place,‘ EaS

Y.

Government will need to change other laws especnally property laws. Formeriy, althe
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o SOES were under threat from fC”‘:-"Bn com ehtors anl oA
shut down, and o p d Some of them were forced to

unemployment levels rose.
M
—

s why the transltlon process was so diff|cu|t

<5 of the key problems was that the old command economies had no Iabour, caprtal or
goods markets. Everythlng had been’ all’ec Zd by the 'state.’ Th "-‘»creatron of these
"MWﬁcult ‘ -
. Governments had never had to use fiscal DOIIQ\LQQCI monetarv:' licvin
developed economies understand. They had to set'taxes in order to pay for defence,

legal system and a- welfare state_for: those who' were to i vitably. suffer during the
transition PVOCESS but the new\y formed pnvate enterpﬁse _i.étruggilng in their
early days, and so often could ‘not afford the taxes, 'so- they)Just didn't_pay-. if the
government raised taxes to allow for this, even more busmesses feft’ the formal
economy and joined the informal economy. ' :

*; Taﬁ_bé_s_e__.——wassmLand the government faced dlfﬁcultres in flnancmg its expendrture :

with use of money mar kets. In western econom:es the ggggm_mﬁm»ﬁaﬂﬁembonds and
Wa ‘In the transition:economies, the stock
markets were under developed, so there was only one. other way td raise money - print
new notes. Of-course, this caused the money supply to grow enormously which is the
main reason for the "vy; arinflation experlenced by some_ of the countrles » ’
o \Workers were used 2 waorking in.a state owned emerprrse when all production
Tne sudden sthch to prlvate enterpnse was ‘a shock.
g cautious. in Lhe _ decnsrons: They did not want to make lots
] rhased by consumers They Were not’ keen on mvestmg in

decisions came from: =
¢ The new entrepren:

of goods that might surch
new machinery. So not only was tne quahty and quantlty of their ‘output ‘low, but this

had a knock on effect. Businesses that supphed machlnery ar the materrals requrred for
|ow output levels that led to low

even lower output.

the production of the good ‘would suffer too It led to
employment which led to less c0nsumer spendmg power and so n
« Transition economies also shifted to protectmg progerty r\ghts The laws were often
unclear or contradictory. In some countries, businessmen ook advantage of the unclear
property laws. by signing jand and factories OVer to themselves during
the privatization process. The laws were also muddled for forelgn investors. It was

assential to attract foreign money if th_e_:e:conomles were to grow agarn

Face of reforms Co '
Countries have used dlfferent approaches to achlevet

*« Some economrsts recomrnend' shoc |
adopting strict monetary and frscal polrcres 0. edpee rnfl
of supply and demand t0 determrne prices ar

« Others argue for (and some countrle _ have.
because the pams from transmon need 1:0 .be softene .--T.

he transmon. o

ation Fand: allowrng the forces

_ _:oach" to ‘transition
e-that the consumers

b ,-iﬁ i 6~ Economic Systems

k therapy je. lnvmlvmg: aextensrve prlvatrzatlon _
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and produces need time to adopt the new ‘.»‘Y%iem;é'id{‘ﬁe, jg‘d‘.’e'l"f'_‘é:’lf-ﬁe'éd‘s‘bub,',-‘ )

support to adopt the policles. - - D

Concluding comment :

The overall success of the reforms depended '.oh;@i of factors'such as the extent of iréf'c'irlm-,v; i
pace of introducing reforms, abili tract aid to support ecanomic.re ocess, a‘bilityto 2%
attract FDI from _and Japan; and the extent to which:there is political : téﬁmhd RN
commitment to persist with reforms. | ). 5 BN

Some of the countries have proved that trafsition can be“a success if the right Steps aré tafer

at the beginning. Probably the two most important fundamentals that must be in place are- s
* Arobust legal system along with clear rules governing the issue of pr"opért'y'r'ightsl o
* Areformed and free capital market to attract foreign investment. 1 .

outube.com/n
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7 The price system

A MARKET refers to a process through whlch products that are falrly slmllar are bought and
sold. The essence of market Is  trade ~ there ls a buyer (prepared’to purchase somethmg such as
consumers) and thereisa seller (prepared to sell somethlng SUCh as frrms

« Markets usually have a physical existénce sich as stalls and shops where gOOdS are sold. (\

gt
But a market may not-have clearly defined; physlcal presence. ‘With' the advent of

technology and improvement in commumcatlon systems, we: fmd that online trading
and trading on telephone has increased a lot

Following are some of the examples of markets that we wnll study in A Le\/el
+ Housing market — where buying-and sellmg of houses take place"
« Laoour market — where individuals’ labour power is ‘bought and sold
o Stock market — where shares are bought and sold;
« Commodity market — where.commadities (wheat rice etc ) are bought and sold;
. Forelgn eychange market - where currencres are bought and sold '

Within each market there can be SUB lVIARKETS I e smaller sectrons of the overall market e.g.
computer industry can be broken down irto" various: type of computers dependlng on their
memory, speed, features and whether they are desktops or laptops. We .usually try to find
prices for sub-markets by looklng at therr demand and supply cond t,ons ' :

Free market R T P
A MARKET SYSTEM refers to a resource al|ocatu n mech n.f::,_a b

e allocated

hased on price mechanism. PRICE MECHANISM is the m : ces in a market
economy. Prices in a market are determined by nure ¢ S0 sUony Parnes without any

government or external intervention.

e

7.1 Demand - buy sidée of the market gt /2/ i) i
ties of a producéthat purchaserg aré’ \mllme and zble to buy at ™

DEMAND refers to the guan
various prices per period of time ceteris paribus{key points are explained in  Appendix A)..
« EFFECTIVE.DEMAND - demand is said-to be effective when there is both w1ll|ngness anc
ability to buy a product. Economists only take’ mto accou_nt effectrve demand
e The LAW OF .DEMAND states that “price:. .an quant\tv dpmanded are m\lerselv
Pftmw, i.€. al lower quantlty Il be'demande:_‘at a hlgher price
assuming all other factors: remam constant This ls_'because_wrth an-increase in- pnce of
good, value for money (as measured in terms of satlsfactl n derrved ‘per dollar spent on
“Xhe product) falls Fall in value for money leads toa decrease in demand for the product.
+ DEMAND CURVE is the dragrammatlc representatron :of demand. based on its definition
and shows the relationship ‘between the guantity demanded and the prlce of a product.
The demand curve’ for goods is. usually . clownward sloplng from left’ to right, i.e.
consumers are willing to buy more: with'a fall in pnces L o
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The following DEMAND SCHEDULE (statlstlcal data about quanth demanded of ) pmdUd at .
) is for a hypothetical product. It shows that with a decrease in. price of the

different price levels

Product, quantity demanded of the product rises. The corresPO"d'"g market deman‘_.d Curve: . .-

(plot of a market demand schew “ona graph) is shown in. the ngTE bEIOW

Price of Quantrty demanded Coen MARKET DEMAN is the total arnount demanded‘_,: ‘
Good A ($) (Qq) per week by the * consumers in 2 market ‘and IS derived by
100 , 200 honzontcllv summmg the mdlwdual demand curves‘ “ 5
80 240 i L
60,' - 280 iMarlfet agmand Zmdwtdual demand L
4 320 L P B
20 360 The demand curvo clearly shows that there is an MS_‘:

quantity demanded and vice versa. (Some of the key points of the demand curve are dlscussed,j '

in Appendix B. )The equatlon of a Imear demand Pric LA
curveis: - o R ‘S'.e' =

o Contractmn

Qa =a- b(Prtce) 15
Movement along the demand curve - SRS I s
Movement along the demand curye takes p!atn pl \\\Qmma“d
due to two reasons: o [ T ) iy
3A

* A change in price of the product ltself
(not of complements and substitutes) -
© An increase in price leading to a ° Q& &

fall in quantity demanded is callad Quandiey demanded
CONTRACTION IN DEMAND. o e . S
o Afallin pnce leading to an mcrease in quantlty demano ed is ca '. EXTENSION,

IN-DEMAND. , R A S TE ko , )
* Ashiftin the supply curve also leads to 2 movement along thn demand curve

.$5omespeaal cases , O R o T S T A s
1. GIFFEN.GOOD is a good. for Wthh demand mcreases as- the pnce lncreases and Vice e

versa. It has'an upward sloping demand curve whnch is contrary to the law of demanc A :
Giffen good ' is’ typlcally an’ inferior. product that does not have easlly ava.|ab|e.€ |
substitutes. The most commonly ‘Cited: example of a Glfren good :s,th‘at of the Irish.

potato. During the Irish famine of 19" century, as ‘the price. of potatoes Tose; poor .
consumers had little money left for more nutritious but expensnve food tems hke meat, :

The lack of money led them to buy more potatoes and less meat:

:P VEBLEN GOODS are types of matenal CommOdltjeS for wh:ch demand is proportrona] to’ L

their high price. These mclude uxury goods such.-as “expen:
designer handbags and luxury cars which are in demand beca

o

- — > win demand
‘ \ E)ttens,on

SRR h iy g g

swe Jewellery, fashlan-f,"‘:-- ,
use of their high prices. " - ¢

The high prices makes them desirable as status symbols. A decreaso in thelr DI’iCES-

s do Bepni



www.youtube.com/megalecture

Online Cla
-7\’ Sses Meqalecture@qmall com

kta

7,

S

'Z.//

72 Supply - sell srde of the market e s ﬁé
supPLY refers to the quantities of a product that s gghers are wrllmg and able to sell at vanous fé
rices per period of time, ¢ ceteris paribus s (key points are explamed in Appendn’ C). - i
The LAW OF SUPPLY states that price and quantrty supplled are drrectly propomonal to %
each other, i.e. 3 higher quantity will be’ suj plied at: higher: prices,. all other: things :/f
unchanged. This is because higher prices are. more’ Tlikély.to i _n_cgea}g__a@.ﬂé ‘of the firms ";
==Tirms are therefore likely to produce and sell more. Another reason for upward g
sloping supply curve is that the furms face rmmlshln -returns in the short run, i-e. the fg

cost per. unit of. flr.rmncreases with an mcrease |n out] ut-Market prices wrll have to rise - :?

to convince producers to produce at hlgher pnce Jevels : !:

« SUPPLY CURVE is the dragrammatr
the relationship between the quantrty supghe i
curve of goods is usually upward sloplng,
output wrth an increase in pnces i

IR
AR

!

=

SR

SN

at: ‘with an’ mbcrease in
oduct

RN
LTSRS

Tha following SUPPLY SCHEDULE is for a hypothetrcal product It shows th
price of: the product quantlty supplred of . the. pr

brice of Quantity supplied
Good A (§) (Qs) per week rises.
=00 360 « MARKET SUPPLY is an aggregatlon of supply ,4?5
80 320' curves ofmdrvndual ﬁrms such. that P f:ﬁ
60 280 ‘ ' i
40 240 M arket supply =: y mdwrdual supply i
20 200

The supply curve clearly shows that there is @ direct rela‘r?or-f o betwaen ,,r. e a’ld quantlty
supplied. An increase in price leads to an increase in quant e versa. (Some of
the key pomts of supply curve. are- duscussed in Appenda< D0 '.u-(;rimear supply

curve is: Lhing

-_"_’Q;—_ Ot b(PrLce)
Movement along the supply curve A (Ps')“‘e N
Movement along the supply curve takes place. Sl VL e S,

due to two reasons: -2 S RS LN

« A change in price of the product itself O R R N AL T },E e
. S F"'__’,—Tf"-y;-—'r--._-—' -~ \

o An incr in price leading to 3 L
An increase I PE= B 85, \ »7% Extension
rise in quantity St supphed is called

A

/ # in eh.:pply

EXTENSION IN SUPPLY. N <
: . C ntx actloﬁ
o A fall in price leading to @ fall in . L in g Iipply e
quantity supplied  is called 0 T R Qi —

CONTRACHON IN SUPPI‘Y ) S T IR Quanan suPPlie.d'
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ﬂQﬂ‘—j-@'Mfce with guantnv demanded therefdre thev ha;/.e an
e R

gupply sell side of the market SRS ; T
PPLY refers to the quantities of a product that sy _gghi sare wilhngand able to se" at vanous
ces per period of time, ceteris paribus (key points are explained.in Appendlr C). -
The LAW OF SUPPLY states that price and quantnty supplled are. d|rectly propomonal to
each other, i.e. a higher cwantlty will be’ supphed at. higher- pncesJ_/[L other . things
unchanged This is because higher pric prices are more. ‘likely. to increase profits of the firms
<sag Tirms are therefore likely to produce and sell more. Another reason for upward
sloping supply curve is that the firms face dlmlr\lshingLreturns in the short run, i.e. the

cost per.unit of. firm.increases with an increase in  output: Market prices will have to rise .

R U

to convince producers to produce at hlgher pnce Ievels

« SUPPLY CURVEis the dlagrammatlc representation
the relatlonshlp between the quantsty su'. i
curve of goods is usually upward slobmg,‘
output Wlth an increase-in’ pl ICQS

y and shows

18 followmg SUPPLY SCHEDULE is for a hypothencal product It shows that with an' lncrease in
Price of Quantity supplied price of the product, quantlty supplled of the product

rises.

‘ood A (& Qs) per week
ood ALY) ( )260 @ 1‘10RKET SUPPLY is an aggregatlon of supply
100O 20. cupves of individual firms such that: '
'8 ‘ 3
0 280 e
0 240
20 200

hes”}l) ur I (@] at E“p 2 s a 2N p”ea d qua Iy
i l e ( I nl |
et e Oi

he key pomts of supply curve are. dleUSSGd in Appendlx .}

e i Q 4 a i b(PrLce)

‘ - [
Movement along the supply curve s olice W | LRI
Movement along the supply curve takes p g FER NS g

due to two reasons:

e« Achangeinpr
o An increasé in pnc

ice of the product itself
e Jeading to a.

ST e va‘nszop 3

' ‘ a uppl
rise in quantity S! supplled is called I ‘_E in supply
EXTENSION IN SUPPLY. ) . .: . tram’m} )

o A fall in price |eading to a fall in L in supply b

ward slo |n deman L

|e flrms wnII be wnllmg to mcrease thelr o

quantity supplied . 1S -_calilve_d

CONTRACTION IN SUPP_I_.Y."
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7.3 Market equilibrium |
EQUILIBRIUM refers to a situation of balance where at least under present crrcumstances there

is no tendency for change to occur.

e In a free market system wnthout government I
Priceof  Quper Qs per Intervention, equllibrium price-is establnshed where quantity i
Good A3) week week demanded Is_equal to quantity supplied. This can be shown '
100 200 360 \yith the help of a table and graph. N :
80 240 320 - = Market equllrbrrum takes - place’ where quantrty
[' 60 280 280 —l demanded is' -equal to' quantrty supplled (Iook at the table) or I
40 320 . 240 ~where the demand curve and the supply curve rntersect (look ‘
20 360 200 ‘at the flgure) Usmg the above table, equrlrbrrum price is $60
and equilibrium guantity is 280 units. EQUILIBRIUM ‘PRICE is'the pnce where demand i
and supply are equal, where the market clears EQUILIBRIUM QUANTITY is. the amount ' l;
that is traded at the: equrlrbrrum prlce ' » 1
Total consumer expenditure is'givenas: REEE :
Total consumer expendtture = Total fn mrevenue = P x Qe 1
Assuming no government intervention, the total consumer ex pen rlrrure is equal to_total firm
revenue. In the above case, total expendrture or L L. Toilconsumer expenditure Is
firm revenue is equal to $16,800 (60x280); | priee | '
sy I\- S
* It must be noted 4\~ -~ he firm revenue O A
not the same as profits. Profit is . \
calculated after deducting costs from ' j... " |
revenues, Therefore, we need to- know,'.l‘-‘ l
the cost levels frrst to Calculate profrt' ]
¢ The. consumer expendrture 0 NG '
revenue'is shown as the. shaded‘ gron |n - S T SRR AR &
thegraph i , SR I T S
i : ! Quantity
: Reason for reachmg an equrlrbrrum i L : e e R
. 'Equ1l|br|um prlce is sometimes also called. MARKET CLEARING PRICE le pr|ce where all i
._prOducts supplled to the market are bought or cleared from the market S &
.87 Market prices mav be different from’ equnlbnum price that lead to elther shortages or
L " surpluses,” _ :
«~'Free market forces’ wlll move the market price toward equlllbrlum R
'3:'5:-:;::LUM tzlakes place If there ls an Imbalance where change wlll appen i.e. where‘ ‘
SUPP y are not equal Two sltuatlons ofdlsequlllbrlum are explalned below :
| ’ .‘,‘ TI‘I_; :"\E’ ' ,".‘d":r/‘ﬁ‘
- R R R
TR (R UKL I
outube.com
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il wﬂﬂ!@‘“m of excess supﬁ! S
reater t L e AR e
ltlgg%ﬁt a higher price (s&t‘:l:‘ :—; ;;Iél;,rlft:rms :/Ivc“e; lhere s ald o be dlsequilibrlum Of excess.
pe willing to supply a higher amount (320 units) Plee T Vg ks
than the demand (240 units) at that price. This (5) N | | s ‘s, :
results [N~ EXCOSs supply and” followlng' M0 [N G Dl of e
‘d,ustments\ . C ) : N _',‘ / ol
o As supply is greater than demand flrms- W y g "
will build up stocks. Reaction of suppliers A,»r"" ‘L Disequitrium of xcess
will be to cut prices and reduce quantity .- 5(4 4R Nem,nd |
supplied in the . market hence movmg‘_y ‘ b ' '--,.',._'"Df’, e
toward the equilibrium. =~ T e T A0 e,
e As price is cut, consumers wnl reactm e T T ot

increasing demand for the product therefore moving tuward thc equnhbrlum

(i) Disequilibrium of excess demand ', SRl |y

if market price is less than equilibrium price, l|l€f(‘ l5 sald lu be dusequnhbrlum ‘of excess
demand. At a lower price (such as $40), consumers will LI(-ln.md @ higher amount (320 units)

than what the firms are prepared to supply (240_upjts) at that price. This results in excess
demand or shortages and following adjustments:

;e As demand is greater than supply, there will be shortages in the market.
*° Reaction of suppliers will be to increase prices (they ,«‘ulggﬁ,tgnnnmm) and
increase guantity supplied in the market hence mn\/lnp toward the equilibrium.

o: As price is raised, consumers will react l;y(n ducing dem: m(DiUl the product {some -
consumers leave the market) therefore moving toward the equilibrium,

Nothing will be able to prevent cormpanies from acdjusting in this way and, wiovided there is no

change in demand and supply conditions, ai equilinium wid cvent ity oe g

ched. It must be
noted that the ‘adjustment is not an instanfaneous process, s iU ey place through
expert decision making or simple trial and error, :

However, this creates an inherent limitation of the proce:: :
¢ There will beltime lagspefore the adjustment i Hrnmln ted,

v Markets can thus remain in_disequilibrium for some ,,(.,Hﬁ,ﬁdﬂf_{_,mp The market will
eventualltcleaaat the point of equilibrium,

y . \ ) | | [

outube.com/ galecture

MEGA__LECTURE

|.—l|'I'J a.C0

o
b,

R R R NN S TR TR N R TR

MR v‘\@\{@:\\\k\\‘x

SRR

o

ST

Xy

SERTRY

NS
SRR

s S

St
i

3kt

o
i
Souh

N

T

o)

SE T

Th
e

AT,

o

ot

e

i
s



www.youtube.com/megalecture

Online Classes : Megalecture@gmail.com

www.youtube.com/megalecture

wwWw.medalecture.com.
" ’ ! ) ) ' 7 -Tx ‘N .m s‘\mm

e

Changes In equilibrium ,
Equikirtum can change becaties of & change in démand or suppf{cmdmcr, ﬁadmg toa shiftin
5 the exarmples dre described below. :

elther one of both the curves, &« af the exar
(1) An lncrease in demand ‘ :
Demand can Increase due Lo rise in income f for normal goods or 2 211 in income for inferior
ool rise In price of nulmtllules, fall In price of complbmon - Eyyoirsble T2stes; increase in '
advertisements; positive news about the prodisct [ppe o < oo SRR
and the company and like that, An lnrreasn in 1ol L
\demmm leauy L0 @ rightward shift in the demand |7
cunve leading Lo a e In both price and quantuty. ok '
A ivcrease in demand from D to Dy lead* to s
CSalWIE Changes, cLl
Y et AU the initial equilibrium pnce (Py), there %
wil now be disequilibrium of - excess
Semand as consumers will demand more
fo0ds (Qa) at the same price. This leads to
2 shortage equal to Qs — Q. : |
« Suppliers react by increasing prices and incr
:c\\:nfvt the new equilibrium Ez. £s pnrc ' 2 !r
=23ing to a fall in quantity demanded. Theref = ,
* ‘Js clears where the new demznz (Dz) b
~ Ihan -=es‘abl|shed ata h;ghor price. [Pz} and k
_ =ED ol
il Loeo=asein domand f
"~ T=mer =~ fail due toafall in inc i
m = =F substitutes, unfavourab @ fastey, D i
—  zmue—czent, 2 poor news item ;
—rm— z-7 ke that. A fall in demanad [eacs :
gz 2% in the demand curve |2acin i
21 v o7z zrdd 2 fallin ouantntytmdeo ‘ ‘ {
. 2+ ooz pitial equilibrium price (P1), th“'e ?
o ooy bre disequillbrium of excess ‘ i
s consmers will demand fewe } | oi 3
s ia 10 at the same price. THIS ioadstc RN MRS S . T, , — .
o g eaual 1o Qa Q. Nl ‘&‘\‘:A?\“;‘fl}i: y ém&‘J'
v aiilint panll hy (locreasing m‘t“\\ ‘\md \:\N\ to\\.nd\ the n°\\' nqullanJm Bz A eE
wovmltig ANty piplied. Therelare e . 1O 3 me N quantlt\- demanoed
sl e ORI pitel the matket kading t@3 ; : I
it VL "'W;”"" o ;‘;“\‘\‘:\3“(\:: \;':l:: \uxn\"’\"‘u we mtemech New equ.hbnum“ 5
) o e TR TRt N : SR
b Hunr b ::m. b lowel ul‘\\‘ W ;) \md Q f\.\\.i‘ \1\.\3“ i : ) 3\\7 Slms s T é
L

I pid bl
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)A increase i suggly : @ S

(m e In SUPPIY takes place due to lower co due L Iower wages -

" lower_energ lower p
Wﬂb | of indi y and transpartation cost, introduction of cost-saving new
chn Slogy, removatotin irect tax, prows\on of subs\dy, and also due m_amm_QLLM‘Lms in

h ket An increase in supply shifts supply curve'to the rlght from 5 to 52
/At the mmal equilibrium price. (Pl), therex : ~ *“""’"’7
Price’ i T ‘

will now be. dlsequﬂlbrlum of excess ‘ (5)‘
supply @s’ suppliers will Supply fore:
goods (Qa) at the same price, This leads to
xLess supplyequalto Qa=Qs.. |,
. Suppliers react by decreasing prices and. g
decreasing quantity supplied. ‘Therefore’
moving towards the new equilibrium £, .
As prices fall, some consumers enter the
market leading- to a: rise- in quantity 0 @ o
demanded. Therefore moving towards L cuantity
tha new equilibrium Ea. s g
« Market clears where the new supply (Sz) and demand curve. mtersect Rew equilibrium
is hence established at a lower price (Pz) and a higher u .

oy |-

(iv) A decrease in supply
Decrease in supply takes place due o 3
materials, a rise in Wages, imposition of in d;rer
taxes, removal of subsidy, - r|c~ ir arergy mu' (EIE

&x transportation costs, and. 3

firms in the industry. A decrease
¥ the supply curve to the left from 31 £ ,
e At the initial equilibrium price (P4}, thera
will now be disequilibrium of excess
demand as consumers wiil demand more. }- -_ ‘ & ‘}_//.': 1 i

goods (Qa) at the same price. This leads t0 a| - plarn B
0 Q [sH Q,

a shortage equal to Qz - Qu- L

: : . Quantity

Ze Suppliers react by increasing prices and v
increasing quantity supplied. Therefore moving - towards the new. equilibrium Ea. AS

prices rise, some consumers leave the market ieadmg to a fall m quantnty demanded

. . Therefore moving towards the new equilibrium Eai: S ‘
0 Miarket clears where the new supply (S2) and demand curve lntersect New equnhbnum

gher ane (Pz) and a lower guannty (Qz) K

is hence esteblished at hi

3 ”se in cost of productlon due to rise in price of raw

tube.com/
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Iy cuwes
demand and squ

(v) chamzes in ?;;:‘e summarizes the’ |mpact of changes ln both de
The If:JaILOeV;':gv Please refer to Appendlx G for graphs showmg the i
simu :

mand a : e
nd su Ply CUWES
the demand and the supply curves. R

P
mpact of ¢ h:}_g.es_m both

L e -' -

' Change

() Achangeindemand . :'  S
(a) Increase indemand . - .©-
(b) Decrease indemand ... 7:.

(ii) Achangeinsupply .-
{a) Increase in supply -
(b) Decrease in supply

(iii) A change in both |
(a) Increase in-demand- &: detreasem Supply
| (b) Decrease in demand & increase in Supply

Decrease - |
Increase
— 9@ |

~Increase
———— —C9F |

;A-Decrease'-.“ Uncertam
—-(c) -Increase in both demand and supply- “Uncertain..| " Increase -
(d) Decrease in both demand and supply »UnCeftain Decrease

* Uncertain mearis that the' chan

ge in pnce or quantlty cannot be 'prednct
decrease or remain constant dep :

endlng on th 'extent of ha ge’in demand‘o supp /

This can be explamed usmg the fﬂllowmg dlagra ms
Increase in demand and a decreuse in suppl
* Prices should rise,

y -

* Effect on equilibrium quantlty is not. known it »'"ay i) mcrease n) decrease ‘o iii)
constant. _ ‘ o i
Prite {£) U 5

Price (£) Price ('E).‘ O

Prices should fall -
Effect on equnllbn
remain Unchanged.
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jagreese in demand and an increase in supply
. Quantity shouid rise.

4 FTEY SANNOR

Sl TR

. Effect on equilibrium price is not known. It may (i) increase, (n) decrease, of (i) remain
unchanged. ‘

PRETOR 53

R pm—

fre= (D i\ e -’-"»Cell:] : 2 - ;rn:g[-‘ﬁ
| / /\/ 5 3 /\/ ; »
rii——a———{:
I %

VA
L/
/

K .éxs';"
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1 = 77‘\,3 i o - 53 ‘-‘ :
> Quantity Quantity

Decregse in demand and o gec:
s Quantity should ia
s Effect on equiiibrium prit
unchanged.

r\

et n.

HES20 A\ nown

Sit may {i} increzse n) decrease sr {11} remain
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7.4 Shifisin demancl curve i o
CHANGE IN DEMAND is @ shift In the.de Ve, dué shgesin fa , A
price of the particular product

nghtward shift in demand curve-
Rightward shift in demand curve takes
due to more favourable tastes; fall in pnce of

complements; rise in price of substltutes, mcrease
in income for normal goods etc. '

place because of an. |ncreas

A rightward shift, as shown in the figure, means
that demand curve shifts from D1 to D2
« At the same price (e.g. P), consumers are |
willing to buy more of the same. good-_;
, (demand increased from Qi to Qa). S I
o«  For the same-quantity {e.g. Q), consumers’
are now willingto pay a’ hlgher price (prrce' j ST
increased  from  P1. to . Pa). Hence i '__:__;
companres can |ncrease thelr prlces .

Leftward shlft in demand curve
Leftward shift in demand curve takes place'
because of a _decrease in demand which can be
due to change in tastes of consumers; rise in price
of complements; fall in price of substltutes . _
decrease in mcome for normal goods- etc :

Quantity demanded

A leftward shift means that demand curve shifts‘

from D1 to D2. : A _

e At the same price (e.g. P), consumers are wrllrng to buy less of the same good (demand '
decreased from Qato Q). . e e Tk :

"o For the same quantity (e. g Q) consumers are no

decreased from P1 to Pz) ' ; :

w wrllmg to ‘pay a,_lower pnce (pnce' Lo

Language used in demand curve ‘-""fi'- Jar
Change in price leads to a movemenit on the' lme and:we say t
demanded. Change in other factors leads to a3 shn‘t |n the curve
change in demand. . - Co ; :

hat there'is a change in Quanhtx'—' ,
d'-w _.-_sayfithat there sa <

voutube.comim
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\ 2 mencesaffectmg shift i ‘ R /
\ M'p"n n demand curve 3 g
mal ability to pay for the produict ' , 7
l/fy_CL’QSL”G gower of income after taxanon : . ' /;

20 LE INCOME is the income LTI e e Z

‘\ SB:AX is 2 tax on income oflz‘:oa;:: fa:Udbtf:acting d?TECt taxes and addmg state beneﬁts :;?f
mRECl rms-and- cannot be'a f 7

me ond € _volded The impact 0 Z

\ sosable incon emand depends upon whether.the good 1s normal or mfenor - i ,f
) ;'ié

L 500DS exhibit a posm\re relat|o .’ T ;
nshlp betw en ncom
e and demand and a negatlve
ia”O“SL‘ p bem'een d"ECt taxes and demand. These |nclude cars and desngnef clothes.

,A
PR Sry
SEIELEOT EERRN TR

TR

SN

m"RlOR GOODS exhibit 2 negatwe re|?=‘tl0nShlp between income’ and"demand and a POSlt'Ve
elatio ship between direct taxes and demand, such as cheap unbranded clothing.

« Anincrease in demand for mfenor goods take place due to fall in |ncome or a rise in
- direct t2xes and.vice versa.. T

A S S S R

Tz

S LER G

N
: : , o
. i
. ppartfrom mcomes and dlrect taxes other factors that can nfluence, the purchasmg power are: bl
e - 4

o largeincrease in unemployment leads to 3 faII m aggregate lncome : LR z

e sustsined rise in earnings from work leads to'an |ncrease in income and A !

« inflationleadstoe fzllin purchasmg power of money

{5 . Availability of logns or_credit and the /nterest rate thut must be pa:d on Iodné or credit

cord balanices TN ‘ ‘
§ increase in availability of loars or or credit anc’ 3 d "rease in mterest rates lead to more borrowmg
mand for the oroduct (rightward shift).

i the economy which in tura
to buy durable goods. A rise in in

« Interest rates affects sonsumption. .Aany people borrow

&
b 1 interest rates would result in il igher instaiments or re plyments for the product resulting
in 2 fall in demand for tne procu nd vice vursa et B

(ii) Attitudes towards the product
purchase behaviour of individuals reflect .
products. A favourable preference leads to arise in demand Itc an. *eult from'

o e 2 good reputation for reliability and service; . -
‘ o strong brand identification aided by advertlsement and promotuon dud el

e fazshion appeai, status symbol, or’ lts Iooks,
e favourahle news item; ; ‘ : Ay

s thelr tastes ar‘d preferunces for uh'LfCﬂt types of

ST

o individual likes and dislikes; :
®  peer pressure and like that. ‘({"
i
i
il
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P £
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(ii) Price, availability and_ attractiveness of related products TR
Economists classify related product rnto two categories o (r) substrtutes ~and>(ll)

{a) Substitutes

SUBSTITUTES are products that satrsfy essentially the same heed or want (an alternatlve good) R

e.g Coke and Pepsi, tea and coffee, and air travel and. road travel
*

Dell, Coke and Pepsi, Honda and Toyota) or broad (such as dlfferent product groups —
dlfferent types of transport including rarl buses and cars or. drﬁerent t‘/pes Of SOf‘t o
drinks such as cola drinks and fruit juices). S B A e

An increase in price of substitute makes ‘the: product mor""'
increase in_the demand of the product (rightward: shift),” e“g

ttractrve leadrng to an- -

Toyota’s decision to increase price ‘of.its’ cars er rncrease
A decrease in price of substrtutes on. the other' ’
attractive leading to a fall in. |t_stdemand (leftward shift J.

An increase in quality,- features, advertisement etc. of a substrtute wrll'make substrtutef

versa.

(b) Complements

COMPLEMENTS are products that enhance the satrsfactaon de.rw——: grom =oe of another
product (a good consumed with another), e.g. fish and rice, TVs and DVD

C/D piavers, and PCs and -

software. In some cases, man® “roduct cannot be used wrth ut 3 complemenst, 2.g2. razor and
razor blades; and DVDs and DVD.players, . M T :

* Anincrease in price of complement will decrease the demand for-c m’m ements making -

your product less attractive. This will lead to a fall in-demand for your product {Ieftward

shift). A fall in price of complement’ wrll mcrease the demand fo complement making -

your product more attractive. Thrs will lead to an’ mcrease in’ demand for your product» '
(rightward shift). ‘

¢ An mcrease in attractwe and avarlabrlrtv of comp\eme” ‘Wil make 3

(iv) Other demand influencing faCtOFSJECUIIBI’ to each product - S SRSy o
Each product will have some factors that are pecuhar to that product e. g weather may
influence demand for ice cream. : A |
e Expectations of future are rmportant in determrnrng demand fo,- houses and shares I
house prices and share - prices are expected to nse there er be a major actrwty m-_:
buying of houses and shares R R , ) .
s Expected unemployment and mterest rates also mfluence demand |f Unemploymem or" .

interest rates are expected to increase, consumer and rndustnal spendmg may rall
leading to a decrease in demand for certarn products '

complements

Range of substitutability can be narrow (such as different competlng brands ~ Hp and

rf Toyota decrded to
increase its prices, value for money for Toyota will fall and Honda (a substltute) will o
become more attractive for. the customers. Demand for. Honda cars (as: 3 resu!t of A

u’ct'f __les_s SR

more attractive \eadmg to a fallin the demand of your product eftward shrft] and vrceiv'-
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1hré " pOSITE DEMAND occurs when a good Is demanded for two or more uses, e.g. land may
3. O nded 10 build shops, to bulld houses or to build a factory. Another example is of wheat

pe d¢ o be used to manufacture bio-fuel and also fmanufacture bread. If demand for. bio-fuel.

ot ore wheat will 8O into production of big-fuél, An increase in demarid for wheat in bio-
rlses"ndusm’ will raise its price and affect the prices of all-other -‘F'J"[oa'dt:ts"frﬁéd4e- from wheat
f"e'h'as " nad, That will mean that supply. of bread-wil Tall-as. less wheat-is available for
i::nu(acturing bread. - ' P A A T A

JOINT E'EMAND (Complements)’v OCCUl‘Swhen tw’q EOOdsa?econf
. les and games, and razors and razor blades. " YA

':“,é_d -t(_)gethgr,_ e.g ga,mmg

3

ons0 . L e e s L i e T
C , If demand for gaming consoles fise (may be due to higher incom jevels); it will also

result in rise in demand for games. w0 i
. Atternately, if supply of PCs rise (may be due to-fall in-cos

production technology) leading to a fall in theirprice'and-'a'rise‘-‘jn-'fthei;"démg'pd';' it will

result in a rise in demand for software. This relationship can alsa be shown through XED-

3. DERIVED DEMAND occurs when demand for 'on'e'"'goo'd Qccjﬁ_rs"-'ésly':a'jrés"gl‘_'t'"bf’ 'd_emafid, for. :

another, e.g. labour is demanded because there is déma_hd_»f’o’r"'t'h"e_ﬁhal"p"rbduct.';Another
example is of input such as steel for car manufgcturihg. if demand for cars rise, demand for

steel will also rise which is the raw material for manufacturing cars.. .

4. COMPETlTI'VE DEMAND refers to demand for productsthat é-ré:;“c'.lp_.s‘:e‘-'é_lngbst'it;yt;es_:f“Qr onef:
another, beef and chicken meat. A dgcrea‘sg"iﬁ;suhé E“lf'ﬂ""?f'j??é_ff:;!,e?‘_j;if?:a, ri?ne.iln p-n_ce_ of bee
which makes chicken-more atira '+'uewd;aqq;pnce;q_chlcken meat.
This relationship can also be ;r_"j,;,_t._ji*a.rough'XED’. : e S 0

7.5 Shifts in S'up'plyr curve T e Nl
CHANGE IN SUPPLY takes piace when therelis a shift'in the*rs_uspply:ng_ljye‘:_dgeujco a change In

factors other than the price of the particq\ar product. .

Rightward shift in supply curve N o ——
Increase in supply can take place due to lower . ‘.
cost of production bhecause of 'avaiiapility“lof :
cheaper raw material, lower wages, increased
productivity due to better production techniques
and improved technology, ~provision of
government subsidies, a reduction in indirrect‘
taxes,-and entry of new firms in tﬁg‘ma_rket. »A9.<Q' i
increase in'supply shifts the supply cu‘r'\,(e tothe
fightfrom Syto Sz. . - hoo| 0
« At the same price (e.g.”P), firms are,

price. .

_Rightward shift . -

duamity supplied
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willing to sell more of Uww
« Fouthe same quantity (e.g.

from ™ o P
Leftward shift in supply curve 0 g 0 Leltward shife -

Rl i supply leads to @ leltwwrds shift In Sllpp|y g
cenve from §y to S Supply can fall due to a rlse i
 oast of production due to higher wage rates
* 10 national minimum wage .or ! Unldn rop e
segotiations),  higher. raw  material . prices [ -

l\\sm\\ of taw material shortages eLc) o
mposition of indirect taxes, some firms: leavrng
the industry, or removal of subsidies. [ s |
« Al the same price (e.g. P), firms are | 0% o oeian g e
O Al antrtvsupphed e UL

willing to supply less (supply decreases : 0 DL ST
from Q: to Q2l : A Gl foFres wnn
For the same quantity (e.g. Ci,l_,‘,'firms_--farfé_r,h.o\,%v’fwilling‘“t’o. charge ‘a higher price (price

) '\\
\_\w

L
incraasad from Py to Pa). E
i
i
Language used in supply curve ;'
Chsnze in price leads to 3 movement on the line’ and we sav that there is a change in Quantrty _ g

supobed. Change in other factors leads toa sh|ft m the rurve and’ we,say that there‘is a chancw

n suDDiv.

Mapr influences affectmg shrft in supply curve
(i} Costs cf supplving a product. - .

Companiss mzke supply decrsron on- the basrs of the prrce-.
relztion to the cost of supplying. the product -Shift in- suoolv curve takes place because of a

chznge in cost of production (other than due to law of dlmrmshrng returns) lvlajor mfluences on
supply include cost of raw materials and c0mponents wage rates; worker productlwt'yr n‘ergy

costs; transport costs; equipment maintenance costs; technology and like that

e |eftward shift (decrease in supply) takes place because of increase in cost of DrOdUCtlon A
wihich can be due toincrease in- wage rates (unlon negotrated or because of higher .
inflation); decrease in worker productlwty (demotrvatlon etc. ); mcrease in prices of raw
materials and components (higher" world demand for or shortage of supply of raw
matenals) increase in cost of énergy, transportatron and equrpment mamtenance pOOr ’
technology leadmg to productrvrty, lossesetc. : ' '
_ghtward shift (increase in_supply) takes place because of fall in cost of Droductron”;-_,_

Wthh can be due to decrease in wage rate' (decrease i un'ron power-‘unemploymen*
% {use: of caprtal' ,.

‘the market in".

. supply of raw- matenals), decrease in“cost of ‘energ *--transpor’tatlon-an'cl"eqlllpmentjv_ﬂ' o

malntenance improvement in state of technology leaclmg to productrvrty gamsetc

MEGA LECTURE
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/
/me“”’g"ic“‘
(ll)6 Vernment legislation
g ent legislation 1S designed to protect consumers, worken and community. S f
un V ome o

Gave(r:p tha tgovernment take may include:
s
- qhe uality control legislation (aimed at improving mmlltv of llnl<hetl good ncreases cost

3 of jroduction of the firm);
ai \
, pollution c}:}ontro:| (t r::d at controlling emission of Imrmful gases and other waste
roducts that potiu e eenvuronment alsoi mueases cost of producuon) ‘
!

minimum Wages (decrease poverty and remove worker exploitation - ~increase costs)

’
, maximum working hours (prevents worker e\Ploltatlon - reduces productrvrty hence

increasing costs of production). ;

fhe impact of legislation is that it increases costs of the firms. mgosmon of leglslatlon leads to

,ef}wgr,ut‘lfﬁ in the supply curve. Removal of legislation leads to rightward shift in the supply

curve.

(b) jmposition of indirect taxes

INDIRECT TAXES are taxes Imposed by the government on consumptlon and use
ervices. Some common examples of mdlrect taxes are GST and. VAT, :

» Anindirect tax leads 1o an mcrease in the cost as the new pnce of product must reﬂect

~ the additional burden of tax. Therefore, an i mgosmon of tax Ieads to reduction supply

(leftward shift).
. Removal or decrease in indirect tax resultsin increas’e i

of goods and

S

n supply (rr: htward shrft o,

(c) Government subsidies RS
SL'BSIDY is defined as'3 sum of mor ,teq).;_ehe{,a\emmenmnuhm_mduo_asiitfan
ma petitive.

r;;i.;_u‘LL‘rmiﬁ

industry or business so that the 2! i
¢ the firms leading. to

e Provision of subsrdy recguces casts O

an. increase in supply

(rightward shift). :
+ Removal of subsidy leads te a leftward shift..

the industry AR ER NSRS RO a
ikely to react if they find that there are substantial

(iii) The size and the nature of
dustry are li

' Firms inside and outside of the in
profits to be made in the industry.

e Firms inside the industry are likely to mcrease t

enter in the industry. Ease of entry |nto the mar
If there are no or low: bamers to entry more ifir
industry profrtabmty rrses Hrgh Jevel of barners wrl

the market.
ry because. of erther (r) more frrms, or (u) blgger firms

« An increase in size'of the |ndust
t'in the supply curve, o

results in a rightward shif
‘because of intense competrtrc: el ely to lead to ar |ghtward

¢ Aprice warin the industry
shift in the supply curve. This. happens because price wars Iead tQ Iower pnce levels for

heir capacuty Flrms outsrde are hkely are

ket: will depend on the arrrers to entry.

ms: are Ilkely to enter the market if
| make |t dn‘ﬂcult for firms to enter
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)

any grven level of output However, prlce wars'mav forceﬂsomé 0

exit the market leaving few larger firms-in the mdustry These

to increase prices in the long run leading to a leftward shift in

o Leftward shift can take place betause of decreas
market because of losses or: prlce wars) or. Collusion among F rms’ (

' pnces charged by the flrms)'-

the LR... ARSI

(iv) Change ln price of otheu:roducts L
* If a competitor lowers its price, rt could mean that less wrll b
who keep their price unchanged S )

o Ifa compentor increases rts pnce other firms may galn and wrll be able to supply more ‘

(v) Other supphl mfluencmgjactors . -
 JOINT SUPPLY takes place when' two ltems are produced together Increase in thejrtce '

reductlon in the latter s price. lncrease m pnce of beef w:ll lead to: mcrease_lnjupply of .

There would always be certain factors unique to each mdustry that affect l‘e"su'ppl'/ curve.”

leading to a rightward shift and vice. versa, : - y
* Expectations of future prices influences supply in- stock marle ancl rorezgn exchange .
market. If price are expected to fall, supply of - shares wxll mcrease and lf prlces are

expected to rise, supply of shares falls

- 7.6 Functions of pnce in a market economy
' Price performs following functions ina market.ecoriormy
E . Aliocation of resources
. Ratlonmg
o Transmrssron of preferences

' Main actors in the market -
? ,dam Smith in hlS book ‘The wealth of Natlons emphas:sed t

of one good will increacz *o» supply of another jointly produced good and thereforz a. L

e Weather conditions affect agricultural produce Favourable weather lnc*eaae supply o

f thensmaller firms to
largerfrrms are then llkaly;' CER

g'in- srze-'of mdustr v (flrms leavmg 1he.j"-,‘f

e supplied by other fims .
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jnactors " the market -Consumers prloducers_,jand
ﬂ*ma axlmrzetherr benefrt that results :

’mvt const mer-rnfree market the 'cohsumer soverergnty Con
L pamizet their utility and-have'th optton to spend thelr
g g000s and services available in the market

, TheFirm - ~ Firms are motivated by higher profrts that they can make from producrng
50ds and services. They are thGFEfOFE fOfCEd to produce goods and services that are
demanded by the customers so that they maximize therr sales They also try to rmprove
r their efficiency and reduce the cost of production, "+, ¢

, owners of factors of production — Owners are motrvated by the desrre to maximize

their returns. They will offer there factor of production to the firm that offers the
highest possible return for their services.

FuncthﬂS of prrce
. Allocation ¢ of resources - _ .
The price mechanism-works automatrcally through ‘the’invisit suggesyéa by Adam
smith. Prices act as a signal to both producers and consumers ‘Atise in demand results in an

. increase in price, signalling to producers that they shou\d produce more of the product. Afallin
demand results in a fall in prices, signalling to producers that they should produce less of the
product. The price mechanlsm works in.such a way.that the outcome is. a new equrlrbrrum

~ position wrth consumer’s demand equal to producers supply

Z 2. Price as a rationing mechanism
- RATIONING is the controlled distribution of scarce resources, goods or services. Economic
: system has to decide how to aliocate scarce resources among.competing uses. There are
- different ways of rationing resources, some of which are usted below

o Price'as a rationing mechanism

o Queues '

o Black market

* Ration cards etc.

Price as a ratlonmg mechanrsm L s &
Price can act as a ratronrng mechanrsm wrtht__ or'wrthout‘f intervention-on the part of the
government. Goods ‘are not freely available as there are not enough resources to  produce
“enough goods to satisfy all individuals. It therefore means that goods, must be rationed, i.e.

“there mus: be some mechanism for deciding who gets some of the goods and who does not. In
“.. :2market system, such rationing is done by prrce Consumers can buy a good if thev are willing

5 -and able to pay the market price.’

i
There are many ways in which prlces can ration resources -

* If a producer has limited capacity or wishes to restrict the supply of the product, then, if
" these producers have high price, the market mechanism will automatically result in
rationing. High price limits demand and'in turn seeks to ensure that it is in line with the
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quantlty that is suppllod For exantple excluﬁlvu Luf mthldClUl@f» or d"SIPHEf f”hl’non
companles charge very high prices for thelr products. Thase'high’ p'/,Céa reducé deénmand
and ensure that it is In line with the quantity that Is supplled. Oan those consumers who
are willing and able to pay the higher price. will be able to buy and’ conSUme the good.
Others who were previously buying but are no lonper wllllng br able to pay, will leave the
market. Price therefore will ration the. supply to con.,umérs who aré willing and able to
buy the higher price. (Students should use the diogram of o fall in stipply to explain the
process.) This is at times considered unfair because Jt favours the rich who can afford to
pay higher prices for goods that are in short supply.

* Government can use prices as a means of ratlonlnp, For. exarnpl rrnposmg indirect
taxes on products such as tobacco mcreases thelr prrce.. and results ln lower demand

Other ratlonlngmechamsms I ‘:-' o e A i /

« Government can use different bases of ratlonmp such as ratlonrnp based on age halpht
etc. Whatever rationing mechanlsm is used, it will still result_;m some people gettmp Lh“ .
good and_some not. gettmg the, good ThIS means tha 'al/f' rat/on/ng mechanr '
discriminate: agamstsome peOpIe . i gk F

» Government cah use maximum prrces to ensure that _;dl crrmmatlon rs not done on

~+- - -pricing “which may be considered. unfair. However, maximum: prlCES can-lead to
shortages of goods. Price will therefore fail to act as a rationing mechamsm There must
then be some other means of rationing the good. . : L
o Rationing by queuing is often. used as a means of drvrdmg goods For lnstanfe
when the government announced low-priced flour in PdleLan ‘we 'wtnes,ed
long queues of people waiting to get'the cheaper flour Those Who are able to”
wait will get the chance of buying the cheaper flour. It is.at tires a_cr;:_xvid as
fairer than rationing by price. However, there is an opportunity co3st of fime that L
people have to stand to buy the product The total cost, to the consumer will be T
the maximum price plus the opportumty cost and |t .s lrkely to ce ngher for- - .~ :
most consumers than the’ equrhbrrum price. S ,
-.Black markets can: also develop in' response_to"'use‘o maxlmum prrces Black
marketers buy the llmlted stock of good- and then’ they sell that good at mgher .
prices to those customers who are w:lllng and able to-buy at higher prices. The
actual price that customers pay may actually_ be greater than the’ equrhbrlum -

price. : RS “
* Other non-price rationing mechanisms are ratlon coupons and favoured: customers SR

Ration coupons are given to customers and they can only buy the good (by‘.’t"-"."j-‘}ﬁ ‘

paying) by showing the ration coupons., .
Favoured customer means that in the event of shortages 3 seller may try to o

make sure that the regular ct customers are able tobuy the produc

(e]

3. Transmission of preferences o :
TRANSMISSION OF PREFERENCES refer to the automatlc-
preferences of consumers to be made known to producers

u y,ln,whtc the market allows the

Rt S T ke
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ticular product because IS NOT ikeg or 1t s too expensive, then

umef" tra ansmitted b back t0 prodUCers Their reactllon.s ou|d be one of rmprovmg the

1 paplan hmtmn oft oy terms in dcimnlion of domand
engix A=

g_antltles

proguct =
thing such as g0

Jssets (shares). e S
o purchasers = demand is from the purchasers of consumers pornt These purchasers

may or may not be the final conisumers. These may also rnclude mter.medaanes (such as
producers, drstrlbutors wholesa\ers and retallers) in the productlon consumptlon chain.
. Wl\_ngngiilq_bﬂ gives' rise: to’ notlonal demand re___"pu_rchasers want a product
because of its expected sat;sfactron 'or’ut:I:ty when it is: con.éurned NOTIONAL DEMAND
is speculative and not always backed up by the abrhty to’ pay Economists’ will not
consider demand unless there is both wi llingness bnd ability to buy a product.
Ability to buy — consumer has the purchasrng pox«)er tobuya product.

e “Various prices - demand fora product is judged at various prrce levels
t
e Per period of tlme —demand must be time 'P"—’LC e g ales per day, or sales per week,

or sales per month and like that. -~ i.' :

f

items that are being traded. This isa ve _' : broad term and’ can mclude many
ods and servrces, andall tradabl itetns such as"'money"and frnancral

e CETERIS PARIBUS (other thmgs being equzli — ma nv ta\f(OfS can affect demand for a

product It can include both price and noi- i
o Ceteris paribus assumptlon is.
relatronshrp, other thrngs are herd corvSLan ,

taken

varrab\e accurately

aud f‘m’ve
Sy A

o There is an rnverse relatronshrp between pnce ahd'qlantlty demanded Prrce is the

moependent variable and quantrty demanded rsther dependent varrable ‘

Wi. are. assuming a causal relatronshrp, 1e a change m price’ Ieads to a change in

Appendix B — Explanat tion of i nev rwnts m c,em

quantity demanded.- A
* The shape of the demand can change accor
linear re\atronshrp in'the example given in the text. lt
bea hyperbola or any other shape dependrng on'the
to price changes For example, a couple of examples of s

inthe ngure below

dmg to the product. We have assumed a
may not always be the case. It can
behavrour or reaction of customers
‘shape‘of demand curve are given
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